Inventory Control Sheet - AVITRAC Core MTP Revision System

Patient Name:

Date:

Paragon 28, Inc.

Orders@Paragon28.com

(855) 786-2828

AVIT, AVITRAC Core MTP

Revision System

Bar Code

Lot #

Qty

Description Reference GTIN
AVITRAC™ Core, MTP Reamer, 39 mm P01-901-0901 00889795097477
AVITRAC™ Core, MTP Reamer, @11 mm P01-901-1101 00889795097484
AVITRAC™ Core, MTP Reamer, 13 mm P01-901-1301 00889795097491
NC Fusion Caddy Base P50-900-NCFS-1  |00889795034113
Paragon 28 Caddy Lid 4x9 P50-900-49GL 00889795049780
NC Fusion Caddy Insert P50-900-NCFS-2  |00889795034120

AVIT-INV Rev. A




Inventory Control Sheet - Baby Gorilla 5th Met Plate Caddy

Patient Name:

Date:

Paragon 28, Inc.

Orders@Paragon28.com

(855) 786-2828

BG5MT, Baby Gorilla 5th Met Plate Caddy

Bar Code

Lot #

Qty

Description Reference GTIN
BABY GORILLA® Plate Caddy Base, JIMF™ Fx P50-900-3009-1 [00889795056009
BABY GORILLA® Plate Caddy Lid, 5th Met-Jones Fx P50-900-SMCL 00889795019653
JMF™ Hook Plate Tamp, Single P51-921-0001 00889795039859
JMF™ Hook Plate Tamp, Dual P51-921-0002 00889795039866
JMF™ Drill Guide, Hook Screw P51-921-0009 00889795051912
JMF™ Hook Plate Template, 5-Hole, Left P51-921-L005 00889795051899
JMF™ Hook Plate Template, 6-Hole, Left P51-921-L006 00889795051875
JMF™ Hook Plate Template, 5-Hole, Right P51-921-R005 00889795051905
JMF™ Hook Plate Template, 6-Hole, Right P51-921-R006 00889795051882
Template Set Screw P51-950-0004 00889795056320
JMF™ Plate, Compression, 8 Hole, Left P53-007-LC08 00889795021380
JMF™ Plate, Compression, 8 Hole, Right P53-007-RC0O8 00889795021397
JMF™ Hook Plate, Compression, 5 Hole, Left P53-008-LC0O5 00889795021403
JMF™ Hook Plate, Compression, 6 Hole, Left P53-008-LC06 00889795034700
JMF™ Hook Plate, Compression, 5 Hole, Right P53-008-RC0O5 00889795021427
JMF™ Hook Plate, Compression, 6 Hole, Right P53-008-RC06 00889795034717

BG5MT-INV Rev A




Inventory Control Sheet - Baby Gorilla Instruments Caddy

3

Patient Name: paragon 28, Inc.
Date: g
Descrption S S - T[T Y ay
BABY GORILLA Instruments Cady Base (Fll Module pso-s00-3005-1 [oosaozasonsras | IIINILINNNIN
BABY GORILLA® Instruments Caddy Base Ui (Full Module)  [pso-sootect.  [oosaozesonszs2 | IITINITHNEAN
Locking il Guide ps1-s00.0001  foosaozasonszes | IIINILININII
Baby Gorila, il Guide, E2/Cone, 62.0mm & 02.5mm pst-sovot01  foosaozasoseas7| NN
Centering Dl Guide, (2.0mm) pst-s020001  foosaozasonsrss| IIINININHNNI
Centering Dril Guide, (25mm) ps1-s02.0002  foosaozasonsreo| IIINILININIIN
Compression Sl Drill Guide (2.0,2.5/2.7mm) pst-s03.0001  foosaozasonssos| IIINITININIIN
Double Ended Over Dril Guide 20/25mm pst-sos.0001  foosaozasonssss| IIINILINIINII
Threaded Mini-Plate Bending Bar pst.o0.0001  oassozasonsss7 | NI
Orl, 1.3 x 100mm, ol A0 pos-100:1310  [oassozasonssaa|  IINITINIINII
Orl, 1.6 x 110mm, Solid, A0 pos-100:611  Joassozasonssst | IINITINANI
Over il 2.1 x S0mm, ol A0 pos-100210  foosaozasonssss| IINITINININ
Over il 2.5 x 100mm, Solc, A0 pos-1002s10  foosaozasonssys | IIINITINTIIN
Screw Forceps pos-1so.o001  foosaozasonsss2 | IIINININTHNI
(Wire Hole Gauge & Ruler pos-1s0.000s  foosaozasonssos | IIINILINANIN
Bone Hook pos-1s0.0007  foosaozasonseos | IIINIFIININ
BABY GORILLA® Depth Gauge pos-150.00s0  [oassozasonser2 | IIINIFIHINI
(Wire, Single Ended Trocar Tip, SMOOTH, 1.2x 10omm  [pes-192-1210  [aogsozososseo |  IIINITHIIIN
(Wire, Sngle Ended Troca Tip, SMOOTH, 1.6 x 1somm  [pos-192-1615 [aogsozosossoss |  IIIINITHHINNN
Oiive Wire, SMIOOTH, 1.3mm pos-200-1306  foosaozasonseas| IIINITITINNI
Oiive Wire, THREADED, .3mm pos-201-1306  foasaozasonseso| LI
Oiive Wire, SMOOTH, .3, (Thr Guice pos-2s0-1300  foosaozasonses7| NI
Oiive Wire, SMOOTH, .6mm, (Comp/Dist) pos-2s0-1606  foosaozasoseza| IIINILIININ

BGINS-INV-Rev A



Inventory Control Sheet - Baby Gorilla Plating System Outer Caddy

P8

Patient Name: Paragon 28, Inc.
pate: e roeaas
Description R menL et P'aﬁ;if?;t::; . cac:le:l Bar Code Lot # aty
BABY GORILLA® Case Ld, FullDin pso-so0-3001  [ooassrsosses|  IINININNINN
BABY GORILLA® Case Base,Ful Din pso-soo002  [oasaossosss72 | IINIITHNTIN
BABY GORILLA Instrument Tray (insert) pso-s00-3003  [ooassrosossoso | IINILIIIHINE
BABY GORILLA® Implant Cadely Tray, Full Din (Insert) EPTR e——
BABY GORILLA® Pate Bending Pirs ps1-o10.0003  [ooassrosososa | IININITHININN
Mini-A0, Ratcheting Handle Streamline, Cannulated pos.co0-norc  [oosaossoaoss | [T
Mini-AO, Non-Ratcheting Handle Streamiine, Cannulated pos.o00-aoss  [ooass7osoaosss | IIINIEITNININ
San Gio™ Baby Bemnetts (2 Each) pos-1so000s  [oosaoasoaozes | NI
Sharp Tip Bone Reduction Clamp, Large pos-1so.0013  [ooassrosoaozoa | IINIEITITHIE
Plate Cutter, Double Acton pos-1s0001s  [oosaoasoaozza | IINTITTHINN
periosteal Elevator pos-1soo0ts  [ooassrosoaoses| IINILINIININ
Harris-Yoon™ Min in Distractor pos-1soo0sr  [oosaozasoasona | I
HarrisYoor™ Min Pin Compressor pos-1so.00s4  [ooassrosoarozo| IIINILINITHNE
MiniCurette, Small, 20° pos-1500050  [oosaossoasoas |  IINNIIITHNIH
Mini Curette, Large, 20 pos-1so.0001  [ooassrosoatoso| IINIEINININ
Rasp pos-1soo110  [oosaossoascey | IINTITIININ
Osteotorne, Straght w/ Handie, 6mm pos-1s0.02a0  [ooassrosoarsas| ML
steotome, traght w/ Handle, omm pos-1soozer  foosaozasoansa | NI
Osteotorne, straght w/ Handle, 2mm pos1s0.02a2  [ooassrosoarsso| IINHINIININ
steotome, Curved w/ Handle, 6mm pos-1s003a0  [oosaoasoasses | I
Osteotorne, Curved w/ Handle, Smm pos1so03a1  [oosssrosoarsz| IINHINIININE
steotome, Curved w/ Handle, 12mm pos-1soosaz  foosaozasoansso | NI
Lobster Claw, Closed pos-1soror7  [oosssrososesa1| ML
Foot Plate, Plantigrade Guide, Radiolucent pos-soo-00s  [oosaoasoascas | [T

BG-INV Rev. A




Inventory Control Sheet - Baby Gorilla Oblique Plate Caddy

Patient Name:

Date:

Paragon 28, Inc.

Orders@Paragon28.com

(855) 786-2828

BGOB, Baby Gorilla Oblique L-T-Y Plate Caddy

Barcode

Lot #

Qty

Description Reference GTIN

BABY GORILLA® Plate Caddy Base, Oblique L, T, Y P50-900-3007-1 |00889795019721
BABY GORILLA® Plate Caddy Lid, 5th Met-Jones Fx P50-900-SMCL 00889795019653
Oblique L Plate, 5 Hole, Left P53-002-L005 00889795018489
Oblique L Plate, 7 Hole, Left P53-002-L007 00889795018496
Oblique L Plate, 5 Hole, Compression, Left P53-002-LCO5 00889795018526
Oblique L Plate, 7 Hole, Compression, Left P53-002-LC0O7 00889795018533
Oblique L Plate, 8 Hole, Mid-Compression L3, Left P53-002-LC38 00889795018564
Oblique L Plate, 8 Hole, L-Compression L3, Left P53-002-LC83 00889795018571
Oblique L Plate, 5 Hole, Right P53-002-R005 00889795018502
Oblique L Plate, 7 Hole, Right P53-002-R007 00889795018519
Oblique L Plate, 5 Hole, Compression, Right P53-002-RCO5 00889795018540
Oblique L Plate, 7 Hole, Compression, Right P53-002-RC0O7 00889795018557
Oblique L Plate, 8 Hole, Mid-Compression L3, Right P53-002-RC38 00889795018588
Oblique L Plate, 8 Hole, L-Compression L3, Right P53-002-RC83 00889795018595
Oblique T, 8 Hole, T2, Left P53-004-L008 00889795018601
Oblique T, 8 Hole, Compression T2, Left P53-004-LC08 00889795018625
Oblique T, 8 Hole, T2, Right P53-004-R008 00889795018618
Oblique T, 8 Hole, Compression T2, Right P53-004-RC08 00889795018632
Y Plate, 7 Hole, Y3, 1.1mm Thick P53-006-3007 00889795018649
Y Plate, 7 Hole, Compression Y3, 1.1mm Thick P53-006-3C07 00889795018656
Y Plate, 17 Hole, Y5, 1.4mm Thick P53-006-5017 00889795018663
Y Plate, 17 Hole, Compression Y5, 1.4mm Thick P53-006-5C17 00889795018670

BGOB-INV Rev. A




Patient Name:

Inventory Control Sheet - Baby Gorilla Screw Caddy

3

Paragon 28, Inc.

Date: s e
T T— &
56 Locking Screw, .0 08mm pso-0s.200  foosaozososss7 | IIIIITININI
56 Locking Screw, .0 09mm pso-0s3-200  [oosaozososssa| IIIINIINIHIIN
56 Locking Screw, .0 x 10mm pso-osz-2010  foosaozasorszoo| NI
56 Locking Screw, 20 x 11mm psoos2011  foosaozosonsz17 | IIIIITININ
56 Locking Screw, 2.0 x 12mm psoos2012  foosaozosorsr2a| IIIIITINIIN
56 Locking Screw, 20 x 13mm psoosz.2013  foosaozosonssa | IIIIITINININ
56 Locking Screw, .0 x 14mm pso-osz2014  foosaozosorsas| IIIIIITIHINI
56 Locking Screw, 2.0 x 15mm pso-osz-2015  foosaozosonszss| IIIIITINININ
56 Locking Screw, 2.0 x 16mm pso-osz-2016  foosaozosonszez | IIIIITININI
56 Locking Screw, 20 x 17mm pso0s3:2017  Joosaozosorszzo| NI
56 Locking Screw, 2.0 x 18mm pso0s3:2018  foosaozosorszas| NI
56 Locking Screw, 2.0 x 19mm pso-os.2019  foosaozasonszss | IIIIIITINIHNN
56 Locking Screw, .0 20mm pso-0s.2020  foosaozosossoo| NI
56 Locking Screw, 2.0 22mm psoosz2022  foosaozosonssss| NI
56 Locking crew, 2.0 x 24mm psoos.2024  foosaozososs23| NI
56 Locking crew, 2.0 x 26mm pso-osz-2026  foosaozosoasso| IIIIITINNINN
56 Locking crew, 2.0 x 28mm pso-osz-2028  foosaozosonsser | IIIIITINIANII
56 Locking Screw, .0 x 30mm pso-0s.2030  foosaozososssa| IIIIIITINIIIN
56 Locking Screw, 2.0 32mm pso-os.2032  foosaozosossser | IIIIITININN
56 Locking Screw, .0 x 34mm psoos-2034  foosaozosossszs| NI
56 Locking crew, 20 x 36mm pso-osz-2036  foosaozosoasas| IIIIITININNN
56 Locking crew, 2.0 x 38mm pso-os.2038  foosaozosonassz | IIIIITINNIN
56 Locking crew, 2.0 x 4omm pso-0sz-2000  foosaozasorsocs| LI
56 Locking Screw, 2.5 08mm pso-osz-2508  foosaozosonsons|  IIIIITIIAII

BGSCW-INV Rev. A




BGSCW, Baby Gorilla Screw Caddy

Barcode

Lot #

Qty

Description Reference GTIN

BG Locking Screw, 2.5 x 09mm P50-053-2509 00889795018922
BG Locking Screw, 2.5 x 10mm P50-053-2510 00889795018939
BG Locking Screw, 2.5 x 11mm P50-053-2511 00889795018946
BG Locking Screw, 2.5 x 12mm P50-053-2512 00889795018953
BG Locking Screw, 2.5 x 13mm P50-053-2513 00889795018960
BG Locking Screw, 2.5 x 14mm P50-053-2514 00889795018977
BG Locking Screw, 2.5 x 15mm P50-053-2515 00889795018984
BG Locking Screw, 2.5 x 16mm P50-053-2516 00889795018991
BG Locking Screw, 2.5 x 17mm P50-053-2517 00889795019004
BG Locking Screw, 2.5 x 18mm P50-053-2518 00889795019011
BG Locking Screw, 2.5 x 19mm P50-053-2519 00889795019028
BG Locking Screw, 2.5 x 20mm P50-053-2520 00889795019035
BG Locking Screw, 2.5 x 22mm P50-053-2522 00889795019042
BG Locking Screw, 2.5 x 24mm P50-053-2524 00889795019059
BG Locking Screw, 2.5 x 26mm P50-053-2526 00889795019066
BG Locking Screw, 2.5 x 28mm P50-053-2528 00889795019073
BG Locking Screw, 2.5 x 30mm P50-053-2530 00889795019080
BG Locking Screw, 2.5 x 32mm P50-053-2532 00889795019097
BG Locking Screw, 2.5 x 34mm P50-053-2534 00889795019103
BG Locking Screw, 2.5 x 36mm P50-053-2536 00889795019110
BG Locking Screw, 2.5 x 38mm P50-053-2538 00889795019127
BG Locking Screw, 2.5 x 40mm P50-053-2540 00889795019134
BG Locking Screw, 2.5 x 45mm P50-053-2545 00889795019141
BG Locking Screw, 2.5 x 50mm P50-053-2550 00889795019158
BG Non-Locking Screw 2.0 x 08mm P50-153-2008 00889795019165
BG Non-Locking Screw 2.0 x 09mm P50-153-2009 00889795019172
BG Non-Locking Screw 2.0 x 10mm P50-153-2010 00889795019189

BGSCW-INV Rev. A




BGSCW, Baby Gorilla Screw Caddy

Description

Reference GTIN

Barcode

BG Non-Locking Screw 2.0 x 11mm

P50-153-2011 00889795019196

Lot #

Qty

BG Non-Locking Screw 2.0 x 12mm

P50-153-2012 00889795019202

BG Non-Locking Screw 2.0 x 13mm

P50-153-2013 00889795019219

BG Non-Locking Screw 2.0 x 14mm

P50-153-2014 00889795019226

BG Non-Locking Screw 2.0 x 15mm

P50-153-2015 00889795019233

BG Non-Locking Screw 2.0 x 16mm

P50-153-2016 00889795019240

BG Non-Locking Screw 2.0 x 177mm

P50-153-2017 00889795019257

BG Non-Locking Screw 2.0 x 18mm

P50-153-2018 00889795019264

BG Non-Locking Screw 2.0 x 19mm

P50-153-2019 00889795019271

BG Non-Locking Screw 2.0 x 20mm

P50-153-2020 00889795019288

BG Non-Locking Screw 2.0 x 22mm

P50-153-2022 00889795019295

BG Non-Locking Screw 2.0 x 24mm

P50-153-2024 00889795019301

BG Non-Locking Screw 2.0 x 26mm

P50-153-2026 00889795019318

BG Non-Locking Screw 2.0 x 28mm

P50-153-2028 00889795019325

BG Non-Locking Screw 2.0 x 30mm

P50-153-2030 00889795019332

BG Non-Locking Screw 2.0 x 32mm

P50-153-2032 00889795019349

BG Non-Locking Screw 2.0 x 34mm

P50-153-2034 00889795019356

BG Non-Locking Screw 2.0 x 36mm

P50-153-2036 00889795019363

BG Non-Locking Screw 2.0 x 38mm

P50-153-2038 00889795019370

BG Non-Locking Screw 2.0 x 40mm

P50-153-2040 00889795019387

BG Non-Locking Screw 2.5 x 08mm

P50-153-2508 00889795019394

BG Non-Locking Screw 2.5 x 09mm

P50-153-2509 00889795019400

BG Non-Locking Screw 2.5 x 10mm

P50-153-2510 00889795019417

BG Non-Locking Screw 2.5 x 11mm

P50-153-2511 00889795019424

BG Non-Locking Screw 2.5 x 12mm

P50-153-2512 00889795019431

BG Non-Locking Screw 2.5 x 13mm

P50-153-2513 00889795019448

BG Non-Locking Screw 2.5 x 14mm

P50-153-2514 00889795019455

BGSCW-INV Rev. A




BGSCW, Baby Gorilla Screw Caddy

Barcode

Lot #

Qty

Description Reference GTIN

BG Non-Locking Screw 2.5 x 15mm P50-153-2515 00889795019462
BG Non-Locking Screw 2.5 x 16mm P50-153-2516 00889795019479
BG Non-Locking Screw 2.5 x 177mm P50-153-2517 00889795019486
BG Non-Locking Screw 2.5 x 18mm P50-153-2518 00889795019493
BG Non-Locking Screw 2.5 x 19mm P50-153-2519 00889795019509
BG Non-Locking Screw 2.5 x 20mm P50-153-2520 00889795019516
BG Non-Locking Screw 2.5 x 22mm P50-153-2522 00889795019523
BG Non-Locking Screw 2.5 x 24mm P50-153-2524 00889795019530
BG Non-Locking Screw 2.5 x 26mm P50-153-2526 00889795019547
BG Non-Locking Screw 2.5 x 28mm P50-153-2528 00889795019554
BG Non-Locking Screw 2.5 x 30mm P50-153-2530 00889795019561
BG Non-Locking Screw 2.5 x 32mm P50-153-2532 00889795019578
BG Non-Locking Screw 2.5 x 34mm P50-153-2534 00889795019585
BG Non-Locking Screw 2.5 x 36mm P50-153-2536 00889795019592
BG Non-Locking Screw 2.5 x 38mm P50-153-2538 00889795019608
BG Non-Locking Screw 2.5 x 40mm P50-153-2540 00889795019615
BG Non-Locking Screw 2.5 x 45mm P50-153-2545 00889795019622
BG Non-Locking Screw 2.5 x 50mm P50-153-2550 00889795019639
BABY GORILLA® Washer P50-153-WMO00 |00889795019707
BABY GORILLA® Screw Caddy Base, 2.0 & 2.5mm P50-900-3010-1 |00889795019660
BABY GORILLA® Screw Caddy Base Lid, 2.0 & 2.5mm P50-900-SCCL 00889795019677
Screw Holding Sleeve, TX-7 P99-191-SL07 00889795019684
Screw Driver Attachment, Solid, AO, TX-7 P99-191-TS07 00889795019691

BGSCW-INV Rev. A




Inventory Control Sheet - Baby Gorilla Straight Plate Caddy

Patient Name:

Date:

Paragon 28, Inc.

Orders@Paragon28.com

(855) 786-2828

BGSLT, Baby Gorilla Strai

ght L-T Plate Caddy

Barcode

Lot #

Qty

Description Reference GTIN

BABY GORILLA® Plate Caddy Base, Straight, L, T P50-900-3006-1 |00889795019646
BABY GORILLA® Plate Caddy Lid, 5th Met-Jones Fx P50-900-SMCL 00889795019653
Straight Plate, 4 Hole P53-001-0004 00889795018243
Straight Plate, 6 Hole P53-001-0006 00889795018250
Straight Plate, 8 Hole P53-001-0008 00889795018267
Straight Plate, 10 Hole P53-001-0010 00889795018274
Straight Plate, 4 Hole w/ Compression P53-001-0C04 00889795018281
Straight Plate, 6 Hole w/ Compression P53-001-0C06 00889795018298
Straight Plate, 8 Hole w/ Compression P53-001-0C08 00889795018304
L Plate, 6 Hole, L2, Left P53-003-L006 00889795018311
L Plate, 7 Hole, L3, Left P53-003-L037 00889795018373
L Plate, 6 Hole, Compression L2, Left P53-003-LC06 00889795018335
L Plate, 7 Hole, Compression L2, Left P53-003-LC27 00889795018359
L Plate, 6 Hole, L2, Right P53-003-R006 00889795018328
L Plate, 7 Hole, L3, Right P53-003-R037 00889795018380
L Plate, 6 Hole, Compression L2, Right P53-003-RC06 00889795018342
L Plate, 7 Hole, Compression L2, Right P53-003-RC27 00889795018366
T Plate, 8 Hole P53-005-0008 00889795018397
T Plate, 10 Hole, T2 P53-005-0010 00889795018403
T Plate, 13 Hole, T2 P53-005-0013 00889795018410
T Plate, 8 Hole, Compression T2 P53-005-0C08 00889795018427
T Plate, 7 Hole, T3 P53-005-3007 00889795018434
T Plate, 9 Hole, T3 P53-005-3009 00889795018441
T Plate, 7 Hole, Compression T3 P53-005-3C07 00889795018458

BGSLT-INV Rev. A




BGSLT, Baby Gorilla Straight L-T Plate Caddy

Barcode

Lot #

Qty

Description Reference GTIN
T Plate, 10 Hole, T5 P53-005-5010 00889795018465
T Plate, 16 Hole, T5, 1.4mm Thick P53-005-5016 00889795018472

BGSLT-INV Rev. A




Inventory Control Sheet - Baby Gorilla Specialty Plate Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
BGSP, Baby Gorilla Specialty Plate Caddy

Description Reference GTIN Bar Code Lot # Qty
BABY GORILLA® Plate Caddy Base, Specialty Plates P50-900-3008-1 |00889795056016 ||||||IHI“‘I‘H"I“l””"‘l

BABY GORILLA Plate Caddy Li, 5th Met-Jones Fx  [pso-soosmict [oosas7osozsess|  INNNTNIIN

Alin Plate, Straight, 10mm ps3o011010  |oosesresozosss| NI

Akin Plate, w/Compression, 10mm P53-001-1C10 00889795020796 ”""IHIH ‘IH"”H”"‘""

Al Plate, Medil, Anatomic, 10mm ps30012010  |oosesresozosss| NI

Straight Plate, 20 Hole, Lamm Thick pso01400 |oosesresozosor | NI

L Plate, 17 Hole, 19 ps003.0000 oosasresozosas| NI

Y Plate, & Hole, Dual Y 3-23, . 1mm Thick ps30060323  |oosesresozszss | NN

Y Pate, 13 Hole, Dual Y 5-3:5, 14mm Thck ps3o060s3s  oosesresozszes| NI

Y Plate, 18 Hole, Dual Y 6.6:6, Wide, Lamm Thick  |ps3-006.2666 [oosesrssaz1aas|  IIINNHIININN

Navicular Plate, 9 Hole, Medium, Left P53-009-L001 00889795021441 ||||||IHI‘HI“"‘"”‘IH"“

Navicular Plate, 9 Hole, Large, Left P53-009-L002 00889795021458 ||||||IHI‘HI“"‘"I| ‘l”"“

Navicular Plate, 9 Hole, Medium, Right P53-009-R001 00889795021465 ||||||IHI‘HI“"‘||”|”‘"‘l

Navicular Plate, 9 Hole, Large, Right P53-009-R002 00889795021472 ||||||IHI‘HI“"‘""H""“

Cuboid Plate, 7 Hole, Mediurm ps3o100001 |oosesresozsass| NN

Cuboid Plate, & Hole, Large ps3o100002 |oosesresozsass| NI

Mesh Plate Rght, 84 Hole (6 x14) pssonz0614  |oosesresozaszs| ININIININ

BGSP-INV Rev. A




Patient Name:

Inventory Control Sheet - Baby Gorilla Talar Neck Plate Caddy

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
BGTAL, Baby Gorilla Talar Neck Plate Caddy

Description Reference GTIN Bar Code Lot # Qty
Talar Neck Fracture Plate Caddy Base P50-900-3012-1 |00889795056030 ||||||IHI“ ‘IH‘"I‘"”"' I‘l

Baby Gorills, Plate Caddy Lid, Min psosoomnct oosasrssosso2s| TN

Baby Gorilla Insertion Guide, Threaded P51-925-0001 00889795056344 ||||||IHI‘HI‘H|H|”I‘Il"‘l

Talar Neck Plate, Lateral, Small, Left P53-011-L001 00889795040107 ||||||IHI“‘I‘”"l"l”“"‘l

Talar Neck Plate, Lateral, Medium, Left P53-011-L002 00889795050298 ||||||IHI‘HIH‘""I‘ ‘l”"‘l

Talar Neck Plate, Medl, Small, Lef pssortior  |oosssresososss| (NN

Talar Neck Plate, Lateral, Small, Right P53-011-R001 00889795040114 ||||||IHI“‘IH“"""‘""“

Talar Neck Plate, Lateral, Medium, Right P53-011-R002 00889795050342 ||||||IHI“‘I‘H”""""“‘l

Talar Neck plate, Medl, Small, Right pssorrior  |oosssresososss| NI

BGTAL-INV Rev. A




Inventory Control Sheet - Baby Gorilal Zig Zag Plate Caddy

Patient Name: Paragon 28, Inc.
Orders@Paragon28.com

Date: (855) 786-2828

BGZAG, Baby Gorilla Zig Zag Plate Caddy

Description Reference GTIN Bar Code Lot # Qty

Baby Gorilla, Plate Caddy, Zig-Zig/Span Implants P50-900-3011-1 |00889795056047 ||||||IHI“‘I‘H"I“"ll‘"“

Baby Gorila, Plate Caddy Lid, Min pso-so0mnct  foossozasossozs | NN

Zigzag Plate, 5 Hole ps30s.000s  [oossozasosoass | ININIIIITIN

Zigzag Plate, 7 Hole ps30s10007  |oossozasosoaes | NN

Zigzag Plate, 1 Hole ps3os10011  |oossozasosoass | IIINIIITAIN

Zigzag Plate, 19 Hole pssoszo019  foossozasosizss| NI

ZigZag Plate, Spanning, 8 Hole, Small P53-051-1013 00889795051745 ||||||IHI“‘I‘H”I"l"”"‘l

ZigZag Plate, Spanning, 8 Hole, Medium P53-051-1015 00889795051752 ||||||IHI‘HI‘H”I|“ ‘"l"‘l

ZigZag Plate, Spanning, 8 Hole, Large P53-051-1017 00889795051769 ”""IHIH ‘I‘H”"m ‘I" |||

BGZAG-INV Rev. A




Patient Name:

Inventory Control Sheet - R3LEASE Screw Caddy

oF

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
S TTr— sareo &
Screw Flat/Dome Washer, 2.7, 3.5 & 4. mm pso-ssawsoo  [oosasssoonsz2 | NIV
RILEASE™ Device, 3.9 X d0mm, 14mm Noteh psozas-1aa0  |oossoresoascz | NI
RLEASE™ Device, 3.9 X 45mm, 14mm Noteh rso2as1aas  [oosaorosoaosss | [N
RLEASE™ Device, 3.9 X 48mm, 14mm Noteh psozas-1aas  |oossorsoses27| (NI
RSLEASE™ Device, 3.9 X 50, 14mm Noteh rso2a9-as0  [oosasssoaccos | IIINIITHIIN
RILEASE™ Device, 3.9 X52mm, 14mm Noteh psozas-uas2  |oossoresoas2s | IINIITHNIIN
RLEASE™ Device, 3.9 X S4mm, 14mm Noteh R ETe e — LT
RILEASE™ Device, 3.9 X S6mm, 14mm Noteh psozas-uass  |oossoresoasae | IINTITHVINIA
RSLEASE™ Device, 3.9 X Samm, 14mm Noteh rso2as1ass  [oosaoosoaocss | IIINITNIIN
RILEASE™ Device, 3.9 X60mm, 14mm Noteh psozas-1ac0  |oosssresoasos| NN
RSLEASE™ Device, 3.9 X 62, 14mm Noteh rso2asasz  [oosaozssoaonza | IINIINNNNIN
RLEASE™ Device, 3.9 X 64mm, 14mm Noteh psozas-1aes  [oossoresoaszas | IINITIIHNNN
RLEASE™ Device, 3.9 X 40mm, 17mm Noteh pso2as-17a0  |oosssrosoasszo | NN
RILEASE™ Device, 3.9 X 45mm, 17mm Noteh psozas-17as  |oossoresoasss | NN
RSLEASE™ Device, 3.9 X 43mm, 17mm Noteh rso2asa7as  [oosaossosssaa | INIIITHINN
RILEASE™ Device, 3.9 XS0, 17mm Noteh psozas-a7so  [oosssresoasats| NI
RLEASE™ Device, 3.9 X 52mm, 17mm Noteh rso2asarsz  [oosaorssoaoso | INIITHNNIN
RILEASE™ Device, 3.9 X S4mm, 17mm Noteh psozas-zsa  |oossoresoasasa| IINTITHHIN
RSLEASE™ Device, 3.9 X S6mm, 17mm Noteh rso2asarse  [oosaorssoaozs | NN
RLEASE™ Device, 3.9 X Samm, 17mm Noteh psozas-a7ss  [oossoresoasasz | IINIIITHNINN
RSLEASE™ Device, 3.9 X60mm, 17mm Noteh rso2asa760  [oosaossoaosss | NI
RILEASE™ Device, 3.9 X62mm, 17mm Noteh psozas-zez  |oossoresoassso | NI
RSLEASE™ Device, 3.9 X 64mm, 17mm Noteh rso2asarea  [oosaorssoaosss | NN
ROLEASE™ tabilzation Device Caddy peo-so0-0002-1 [oosssrsoassss | IIIIIINENI
RLEASE™ Sabilzation Device nstrument Caddly pao-so0-002-2 [oosasssoaoson | NI
RLEASE™ Stabilzation Device Caddy L peo-s00-0002:3 [ooassrsoasaor | I
RLEASE™ Sabilzation Device Instrument Cadely Lid pao-soo00z-2 [oosasssoasara | NI
Drill, 2.8 x 140mm, Solc, A/O, R3LEASE™ psosoo-2s1a  [oosssresoasazs| NI
Drill, 2.8 x 140mm, Cannulated, AO, R3LEASE™ rsos102s1a  [oosaozssoasazn | IINIIIININN
Drill Guide, 3.9mm, RBLEASE™ psos03000  [oosssrsoasaas| NI

BRASCW-INV Rev. A




BRASCW, R3LEASE Screw Caddy

Barcode

Lot #

Qty

Description Reference GTIN

Lateral Removal Driver, R3LEASE™ P80-940-3902 00889795049452
Depth Gauge, Wire Measuring, R3LEASE™ P80-950-0080 00889795049469
Depth Gauge, R3LEASE™ P80-950-0081 00889795049476
Screw Driver Attachment, Solid, AO, HX-10, Short Taper, R3CON™ P99-191-TR10 00889795041326
K-Wire, Single Ended Trocar Tip, SMOOTH, 1.6 x 150mm P99-192-1615 00889795019936

BRASCW-INV Rev. A




Inventory Control Sheet - Gorilla, Half Height Instrument Caddy

Patient Name:

/8

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
Deserption e e Ten - Toarcods ot ay
GORILLA Intrument Tray (insert) pso-so0-0004  [oosssrosorzeos | NI
GORILLA® Case L, Full Bin pso-so0-0007  [oosssrssorzes7 | NI
GorillaHalf Height nstrument Base, Full DN pso-soocor2 [oossorssossss | NN
Mini-A0, Ratcheting Handle treamine, Cannlated, Mecium  [pos-coo-nomn [oosaossoaosa | ININNIININIAN
Mini-A0, Non-Ratcheting Handle Streamiine, Cannulated pos-oo0-aoss  [oossorssososos | IINIINIHINI
San Gio™ Baby Bennetts (2 Each pos-1so-0004  [oossorssoaozes | NN
Caspar Type Compression/Distracton Devce pos-1so-cortn |oossorssossess | NN
Sharp Tip Bone Reducton Clamp, Large pos-1so0013  |oosssrosoaozaa | NI
Medium Distactor pos-1sooos  [oosssrososostz | NN
Lobster Caw pos-1so0017  [oossorssoaozst | IIINAITNNIIN
Perioteal Elevator pos-1sooots  |oossorssososas | NI
Lapidus Nipper (Rongeur/Chisl) pos-1sooots  |oossorssosozss | INNNITINITN
The Honey Badiger™ (Cartage Removal Tool) pos-1so.0034  [oossorssosozss | NI
osteotome,Straight, 6mm pos-1s0-0040  [oossorosososso | NN
osteotome, Sraigh, 12mm pos-1so-00a1  |oossorssososay | NI
steotome,Straight, 19mm pos-1s0.00a2  |oosssrosoaoosa | NI
stectome, Curved, Gmm pos-1so0140  [oossossoasoa | NN
osteotome, Curved, 12mm pos-isoo1a1  [oossorssoarcst | NN
osteotome, Curved, 19mm pos1so0142  [oossorssoasoss | NN
Foot Pate, latigrade Guide, Radiolucent pos-soo-100s  [oosssrosoassas | TN

G2INS-INV Rev. A




Inventory Control Sheet - Gorilla, Ankle Fracture, Hook and Posterior Plate Caddy

Patient Name:

oF

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
escrption e e Reremee——— Tarm————Toarcoe Lot ay
GORILLA Hook Ankle Fracture Caddy Base (Ful Module pso-sooaenic1  [oosasssosstos | NI
GORILLA® Universal Ld (For Al Full Modules - Reinforced) pso-soo-unvcs [oosssresossoas | IITHITHNNIIN
Ankle Plting K Wire Guide, Tower pst.so0z001  [oosasssorsoes | IINIIININN
AnkleFracture, Tamp, ingle Hook psto22:1001  [oosssrsosssos | NI
AnkleFracture, Tamp, Double Hook psts22:1002  [oosasssossoso | NN
AnkleFracture, il Guide, Double Haok ps1.o22:1003  [oosssrsossez7 | NI
Fiular lat, Hook, -Hole, Anatomicl pss-20a0005  [oosasssosaaso | NI
Fiular late, Hook, & Hole, Anatomicl psa-2000006  [oosssresosaazz | NN
Loteral MalleolusPlte, Hook, 5-Hole, Antomicl Lef pss205005  [oosaossosaasa | IINIIANIIN
Lotera MalleolusPlte, Hook, - Hole, Anatormical Lef psa-20s-1005  [oosssresosasar | NI
Loteral MalleolusPlate, Haok, -Hole, Anatomical, Right psz-205-r005  [oosasssosaass | [N
Loteral Malleolus Plate, Haok, & Hole, Anatomical, Right pss-20s-k006  [oosssresosaes | IINIIIININ
Mecdial Malcolus Plate, Hook, 2-Hole, Anatomicl pss206.0002  [ooassrososaaz2| NN
Medial Maleolus Plate, Hook, & Hole, Anatomicl ps3-206.0004  [ooassrsoasosa | IIHIITHAIN
Posterolateral Disal Tiia Plat, - Hole, Anatormical Lef psz.2071005  [oosasssosasao | NI
Posterolateral DisalTiia Plate, - Hole, Anatormical Lef ps3-207-1005  [oosssrsosass7 | [N
Posterolateal Disal Tiia late, 7-Hole, Anatormical Lef pss2071007  [oosasssosasea | [N
Posterolateral Distal Tiia late & Hole, Anatormical Lef psa207-1008  [oosssresosas7 | [N
Posterolateral Distal Tiia Plate, - Hole, Anatomicl ight psz-207r005  [oosaossosasss | IINIITIHIN
Posterolateral Distal Tiia Plate, & Hole, Anatomical Right ps3-207-r006  [oosssrsosasss | IIINIIINNINN
Posterolateral Distal Tiia Plate, 7-Hole, Anatomicl ight psz-207007  [oosasssosason |  IINIITIINNN
Posterolateral DistalTiia Plate, & Hole, Antomicl Right pss-207-r008  [oosssresosais| NI
Posterior, Anti-Gide, Fibulr, 7-Hole, Anatomical, Universal Lor psz-2080007  [oosasssosaass | NN
Posterior, Anti-Giide, Fibular,5-Hole, Anatomical,w/Cornp, UniversalLor R ps3-208.0009  [oosssrsosaass | IINIIINATN
Posterior, Antr-Giide, Fibular, 11-Hole, Aatomnical, w/Comp, Universal Lor pss-2080011  [oosasssosason | [N
Posterior, Anti-Giide, Fibulr, 7-Hole, Anatomical, Universal Lor ps3-208:1007  |oosssrsosasso | [N
Posterior, Antr-Giide, Fibular,5-Hole, Anatomical,w/Cortp, UniversalLor R pss-208:1009  [oosaossosaszs | [N
Posterior, Anti-Giide, Fibular, 11-Hole, Anatomnical, w/Comp, Universal Lor pssa0g1011  |oossoresosasss | NI
PosteromedialDistalTiia Plte, -Hole, Anatomical, Lef psz-200-006  [oosaossosaszs | IINIITINN
PosteromedialDistalTibia Plate, -Hole, Anatomical,Lef ps3-200-1008  [oossoresosas2 | [N

GAFHK-INV Rev. A




P8

GAFHK, Gorilla Ankle Fracture Hook and Posterior Plate Caddy

Description Reference GTIN Bar Code Lot # Qty
Posteromedial Dista Tiba Pate,6-Hole, Anatomnical, Right ps3-200-k006  [oosssrsosaes | INIIINHITN
Posteromedia Distl Tiia Plate, &Hole, Anatomica,Right psz-200-008  [oosaossosasss | IINIITNTHN
Posterior Tr-Mallolar Plae, 3-Hole, Anatorica ps211.0003  [oosssrsosases | NI
Posteror Tri Mallolar Pate, & Hole, Antornical pss21r000s  [oosaossosaszo | IINIITIIHN
Bone Hook pos-150.0007  [oosssrsorssos | I
Olie Wire, SMOOTH, 1.6 x 80mm, Tower Wire, Standard pos-2so1e0s  [oosasssoas7s | IINIINENIN
Olive Wire, SMOOTH, 1.6x 100mm, Tower Wire, Long posasos10  [oosssrsosors| (NN

GAFHK-INV Rev. A



Patient Name:

Inventory Control Sheet - Gorilla, Ankle Fracture Plate Caddy

Paragon 28, Inc.
Orders@Paragon28.com

Date: (855) 786-2828
S 7S T &
RSCON™ Locking Plate Screw, 3.5 x 10mm pso-aszasio  foossozosonsasa| HIINININIITI
RSCON™ Locking Plate Screw, 3.5 x 12mm psosszasiz  foossozasonsast | IINININITINN
RSCON™ Locking Plate Screw, 3.5 x 14mm psoaszasia foossozososazs| NN
R3CON™ Locking Plate Screw, 3.5 x 16mm pso-sszass  foossozasonsass| IIINININININN
RSCON™ Non-Locking Plate Screw, 3.5 x o psoaszasio  foossozosonsort | NN
RSCON™ Non-Locking late Screw, 3. x 12 psoaszasiz  foossozasonses| NN
RSCON™ Non-Locking Pate Screw, 3.5 x Lemm psoaszasia foossozosonsess| NN HITH
RSCON™ Non-Locking Plate Screw, 3.5 x 16mm psoaszass  foossozasonsesz | IIININIIN NN
GORILLA Ankie Fracture Cady Base (Fll Modile) pso-soo-arxc-1 foassozasonsozs| NN
GORILLA® Universa Lid (For All Full Modules-Reinforced) [pso-s00-unve-3 [oossszssossoas | I
Ankle Plting K Wire Guide, Tower ps1.s00.2001  Joasaozasonsoss | IINITIININ
el Malleolus Parallel/Diverging K-Wire Guide pst.s0s-1001  Joasaozasassess | IIINILITNANAII
Fbular Plate, Straight, 3 Hole pss-2000003  Joassozosonosz7 | IIINININNINITH
Fiular Plate, Straight, 4 Hole pss-200004  foassozasonossa| NN
Fbular Plate, Straight, 5 Hole psz-200005 Joassoasonosor | IIININIINIIE
Fular Plate, Straigh, 6 Hole ps3-201.0006  Joassozasonoao7 | IIINILINIINIA
Fbular Plate, Straight, 7 Hole ps3-2010007  foossozosonoasa| IIINILINIINNN
Fiular Plte, Straigh, 8 Hole pss-2010008  foassozasonoaxt |  IIMILININANH
Fbular Plate, Straight,  Hole psz-2010009  Joossozosonoass|  IIINININIINIH
Fiular Plate, Staight, 10 Hol pss200010  foassozasonoass | IIINILININNNN
Fbular Plte, Staight, 12 Hol pss20v0012  foossozasonoas2 | IIINININININ
Fiular Plte, Staight, 14 Hol pss200014  foassozasonoass | IIINILININIIN
Fbular Plte, Straight, 16 Hol pss-200016  Joossozasonoazs| NN
Fibular lat, Cluster, 7-Hole, Anatormical Lef pss-203-007  foossozasonoass|  IIIINILINININN
Fbular Plate, Cluster,5-Hole, Anatomical Lef ps3-203-009  Joossozasonoaso|  IIINININIININI

GAFXR-INV Rev. A



GAFXR, Gorilla Ankle Fracture R3CON Plate Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

Fibular Plate, Cluster, 11-Hole, Anatomical, Left P53-203-L011 00889795010506
Fibular Plate, Cluster, 13-Hole, Anatomical, Left P53-203-L013 00889795010513
Fibular Plate, Cluster, 15-Hole, Anatomical, Left P53-203-L015 00889795010520
Fibular Plate, Cluster, 17-Hole, Anatomical, Left P53-203-L017 00889795010537
Fibular Plate, Cluster, 7-Hole, Anatomical, Right P53-203-R007 00889795010544
Fibular Plate, Cluster, 9-Hole, Anatomical, Right P53-203-R009 00889795010551
Fibular Plate, Cluster, 11-Hole, Anatomical, Right P53-203-R011 00889795010568
Fibular Plate, Cluster, 13-Hole, Anatomical, Right P53-203-R013 00889795010575
Fibular Plate, Cluster, 15-Hole, Anatomical, Right P53-203-R015 00889795010582
Fibular Plate, Cluster, 17-Hole, Anatomical, Right P53-203-R017 00889795010599
Medial Malleolus Plate, 7-Hole, Anatomical P53-210-0007 00889795010605
Olive Wire, SMOOTH, 1.6 x 80mm, Tower Wire, Standard P99-250-1608 00889795041579

GAFXR-INV Rev. A



Inventory Control Sheet - Gorilla BOW Plate Caddy

Patient Name:

/38

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
T T —T &
BOW & ARROW® Siing Tool, Base & Cotton psosooo001  [oosssssorzaze | NN
GORILLA® Bow Implant Cadcly Base (Half Mocuie)  [pso-s00-sowc-1 [oosaozosorzacs | NN
GORILLA® Bow Implant Caddly Lid pso-soo-sowc2 |oosssrssorzazs | IINTINITINTI
BOW & ARROW® Spreader pstoz01001  |oossossososas | NN
BOW & ARROW® Siing Tool, Evans pst.o201002  |oossorssozeas | NN
BOW & ARROW® Osteotome, Dusl Taper pst.o201003  [oossorosossss | NN
BOW & ARROW® Osteotome, Sngle Taper pst.o201004  |oossossosoesz | IINHITNI
BOW & ARROW®, BASE, Wedge Plate, 0.0mm, Right [ps3-1040000  [oosso7ssooss2a | ININHITITNI
SOW & ARROW?, BASE, Wedige Plate, 20mm  [ps3-10s0020 oassoascossst | IINTIHINN
BOW & ARROW®, BASE, Wedge Plate, 25mm  [ps-1040025 |oosso7asoosses | ININNITININ
5OW & ARROW?, BASE, Wedige Plate, 30mm  [ps3-10s0030 oasoascossss | NN
BOW & ARROW®, BASE, Wedge Plate, 35mm  [ps-1040035  |oosso7asoosss2 | INIHHITHHN
5OW & ARROW?, BASE, Wedige Plate, 40mm  [ps3-10s.0040 oassoasooss7o | IIETTNITHTI
BOW & ARROW®, BASE, Wedge Plate, 4smm  [ps3-10400a5  |oosso7asoossss | ININNITAI
BOW & ARROW?, COTTON, Wedge Plate, smm  [ps3-104-0150 [oassasoossos | IINNTIHINI
BOW & ARROW®, COTTON, Wedge Plate, emm  [ps3-1040160  |oosso7asooseos | ININEINIII
5OW & ARROW?, COTTON, Wedge Plate, 7mm  [ps3-104-0170 oasasasoosess | IINNTIHITAII
BOW & ARROW®, COTTON, Wedge Plate,smm  [ps3-1040150  |oosso7ssoose23 | ININEININII
BOW & ARROW?, EVANS, Wedge Plate, mm  [ps3-104-0206 [oasoascoseso | IINNTIHIINNI
BOW & ARROW®, EVANS, Wedge Plate, smm  [ps3-1040208  |oosso7ssoose«7 | ININEIININ
BOW & ARROW?, EVANS, Wedge Plate, 1omm  [ps3-104.0210 oasoascosesa | IINHTTHINII
BOW & ARROW®, EVANS, Wedige Plate, 12mm  [ps-1040212  |oosso7ssoosest | ININEINHNN

GBOW-INV Rev. A




Inventory Control Sheet - Gorilla, Calc Fracture, Sinus Tarsi Plate Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
Deserption e e TN Toarcads Lot ay
RSCON"™ Locking Plate Screw, 3.5 x 28mm pso-ssz-aszs  [oossszososesas | IIIIIIINNINI

RSCON"™ Locking Plate Screw, 3.5 x 3omm pso-3saaszo  |oossorssosessa | NI

RSCON"™ Locking Plte Screw, 3.5 x 32mm pso-3saass2  |oossorssossseo | NN

R3CON"™ Locking Plte Screw, 3.5 x 34mm pso-ss3:3s34  [oossszosores77 | IIINITINNNNAN

GORILLA Sinus Tarsi Implant Cacidy Base (Full Modue) pso-soo-cexc-2 [oossszosoxsa2a | IIINININININE

GORILLA® Sinus Tarsi Implar Insert Full Moduie) pso-soo-cerc:3  |oossorosozsass | HINIIITILNN

GORILLA® Universal Lid (For All Full Modules - Reinforced)

P50-900-UNVC-3

00889795018045

Dissection Tool, Sinus Tarsi

P51-920-1006

00889795023315

Sinus Tarsi, Support Plate Inserter

P51-920-1007

00889795023322

Sinus Tarsi, Drill Guide, Locking

P51-920-1010

00889795023339

Sinus Tarsi, Incision Guide, Small

P51-920-1011

00889795023346

Sinus Tarsi, Incision Guide, Medium

P51-920-1012

00889795023353

Sinus Tarsi, Incision Guide, Large

P51-920-1013

00889795023360

Lateral Wall Plate, Left, Extra Small

P53-102-L000

00889795020116

Lateral Wall Plate, Left, Small

P53-102-L001

00889795009203

Lateral Wall Plate, Left, Medium

P53-102-L002

00889795009210

Lateral Wall Plate, Left, Large

P53-102-L003

00889795009227

Sinus Tarsi Support Plate, Left, Small

P53-102-L101

00889795020123

Sinus Tarsi Support Plate, Left, Medium

P53-102-L102

00889795020130

Sinus Tarsi Support Plate, Left, Large

P53-102-L103

00889795020147

Sinus Tarsi Plate, Left, Small

P53-102-L201

00889795020154

Sinus Tarsi Plate, Left, Medium

P53-102-1202

00889795020161

Sinus Tarsi Plate, Left, Large

P53-102-1203

00889795020178

Lateral Wall Plate, Right, Extra Small

P53-102-R000

00889795020185

Lateral Wall Plate, Right, Small

P53-102-R001

00889795009234

GCFST-INV Rev. A




GCFST, Gorilla Calc Fracture Sinus Tarsi Plate Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

Lateral Wall Plate, Right, Medium P53-102-R002 00889795009241
Lateral Wall Plate, Right, Large P53-102-R003 00889795009258
Sinus Tarsi Support Plate, Right, Small P53-102-R101 00889795020192
Sinus Tarsi Support Plate, Right, Medium P53-102-R102 00889795020208
Sinus Tarsi Support Plate, Right, Large P53-102-R103 00889795020215
Sinus Tarsi Plate, Right, Small P53-102-R201 00889795020222
Sinus Tarsi Plate, Right, Medium P53-102-R202 00889795020239
Sinus Tarsi Plate, Right, Large P53-102-R203 00889795020246
T-Handle, A/O Connection, Non-Cannulated P99-000-A0OTH 00889795023377
K-Wire, Single Ended Trocar Tip, SMOOTH, 2.3 x 200mm P99-192-2320 00889795023407
K-Wire, Single Ended Trocar Tip, SMOOTH, 2.9 x 200mm P99-192-2920 00889795023414
Schanz Pin, 4.0mm, AO Connect P99-300-4013 00889795023384
Schanz Pin, 6.0mm, AO Connect P99-300-6013 00889795023391

GCFST-INV Rev. A




Inventory Control Sheet - Gorilla, Calc Slide Plate Caddy

Patient Name:

Date:

3

Paragon 28, Inc.

Orders@Paragon28.com

(855) 786-2828

GCSL, Gorilla Calc Slide Plate Caddy BOM

Description

Reference GTIN

Bar Code

GORILLA® Bow Implant Caddy Lid

P50-900-BOWC-2 |00889795017475

Lot #

Qty

GORILLA® Calcaneal Slide Implant Caddy Base (Half Module)

P50-900-CSLC-1  |00889795017505

Calcaneal Slide Plate, Inserter P51-907-0002 00889795017598
Calcaneal Slide Plate, Swivel Guide Il P51-907-0006 00889795052339
Calc Slide Plate P53-107-2015 00889795009913
K-Wire, Single Ended Trocar Tip, SMOOTH, 2.5 x 150mm P99-192-2515 00889795041456

GCSL-INV Rev. A




Inventory Control Sheet - Gorilla Instrument Caddy

Paragon 28, Inc.

Orders@Paragon28.com

(855) 786-2828

Barcode

Lot

Qty

Patient Name:
Date:

GINSR, Gorilla Instrument Caddy
Description Reference GTIN
Gorilla R3CON General Instrument Caddy Base P50-900-0008-1 |00889795052698
GORILLA® Universal Lid (For All Full Modules - Reinforced) [P50-900-UNVC-3 [00889795018045
Locking Drill Guide, TUFFNEK® P51-900-1001 00889795017567
3.5 Locking Drill Guide, R3CON P51-900-1002 00889795045614
4.2 Locking Drill Guide, R3CON P51-900-1003 00889795045621
Gorilla R3con Drill Guide, Easy Guide, 2.7/3.5 P51-901-3101 00889795056436
Gorilla R3con Drill Guide, Off Axis P51-901-3102 00889795056443
Gorilla R3con Drill Guide, 4.2 MM P51-901-3142 00889795056429
Centering Drill Guide 2.7mm P51-902-1001 00889795045669
Centering Drill Guide 3.5mm, R3CON™ P51-902-1002 00889795039613
Centering Drill Guide 4.2mm, R3CON™ P51-902-1003 00889795045683
2.7mm Compression Slot Drill Guide, R3CON P51-903-3001 00889795045690
3.5mm Compression Slot Drill Guide, R3CON P51-903-3002 00889795039644
4.2mm Compression Slot Drill Guide, R3CON P51-903-3003 00889795039651
Hole Counterbore, 3-in-1, R3CON™ P51-904-3001 00889795039675
Over Drill Guide, Double Ended (2.7mm& 3.5/4.2mm) P51-905-1001 00889795045744
Threaded Plate Bending Bar P51-910-1001 00889795017611
Flat Plate Bender P51-910-1002 00889795045850
Caspar Insert - Plate Engaging Compression P51-955-0001 00889795046093
Bone Fenestration Perforator P99-100-2009 00889795040411
Drill, 2.0 x 110mm, Solid, Measuring, AO P99-100-2011 00889795040428
Drill, 2.4 x 140mm, Solid, Measuring, Long, AO P99-100-2414 00889795040459
Over Drill, 2.7 x 110mm, Solid, AO P99-100-2711 00889795040480
Drill, 2.8 x 140mm, Solid, Measuring, Long, AO P99-100-2814 00889795040503
Over Drill, 3.5 x 110mm, Solid, AO P99-100-3511 00889795040510

GINSR-INV Rev. A




GINSR, Gorilla Instrument Caddy

Barcode

Lot

Qty

Description Reference GTIN

Over Drill, 4.2 x 120mm, Solid, AO P99-100-4212 00889795040534
Screw Forceps P99-150-0001 00889795048967
K-Wire Hole Gauge & Ruler P99-150-0005 00889795019899
Depth Gauge Plate Screw, 70mm Screw P99-150-0014 00889795040800
Bone Fenestration Chisel P99-150-0035 00889795040893
Screw Driver Attachment, Solid, AO, HX-10, Short Taper, R3C{P99-191-TR10 00889795041326
K-Wire, Single Ended Trocar Tip, SMOOTH, 2.0 x 150mm P99-192-2015 00889795041418
K-Wire, Single Ended Trocar Tip, SMOOTH, 2.3 x 150mm P99-192-2315 00889795041425
Olive Wire, SMOOTH, 1.4mm P99-200-1406 00889795041531
Olive Wire, THREADED, 1.4mm P99-201-1406 00889795041555
Olive Wire, SMOOTH, Short Tip, 1.8mm P99-202-1810 00889795047625

GINSR-INV Rev. A




Inventory Control Sheet - Gorilla Outer Caddy

Patient Name:

~8

Paragon 28, Inc.
Orders@Paragon28.com

Date: (855) 786-2828
" eterence—[o7m sareo &
MONSTER® or GORILLA® Case Base, Full bin pso-s00-0002  |ooassresorzsss | NI
MONSTER® or GORILLA® Caddy Tray, FllDin(nser pso-s00-0003  |oosssrssorzaso | IINNIIHNNIIN
GORILLAS Instrument Tray (nser pso-so0-0004 |ooassrssoraos | NN
GORILLA® Case L, FulDin pso-s00-0007  |oosssrssorzaa7 | I
Mini-A0, Ratcheting Handle Streamiine, Cannulated, Megium  [pss-00-aomn [oasss7ssodos74 | I
Mini-A0, Non-Ratcheting Handle Streamline, Cannulated pos.000-aoss |oosssrssososs | I[NNI
San Gio™ Baby Bennetts (2 Each) pos-150.0004 |ooassrssosoes | IIHNIIIIIIN
Caspar Type Compression/Disraction Devie pos-150.0011- |oosssrssoseses | I[NNI
Sharp Tip Bone Reduction Clamp, Large pos-1s0.0013  |ooassrssosozoa | I[NNI
Medium bistractor pos-1s0.001s  |oosssrssosoza7 | I[NNI
Lobster Claw pos-150.0017  |ooassrssososaz | IIHNIITTANN
PeriostealElevator pos-150.001s  |oosssrssososas | I[NNI
Lopidus Nipper (Rongeur/Chise) pos-1s0.001s  |ooassrssososss | IIHNIIITINN
The Honey Badger™ (Cartilage Removal Tool pos-150.0034  |oosssrssososss | I[NNI
osteotome, Sraigh, 6mm pos-150.0040 |ooassrssososzo | IIHNIINNNIN
Osteotome, Sraght, 12mm pos-150.00a1  |oosssrssososay | [N
Osteotome, Sraght, 19mm pos-150.0042 |ooassrssososse | I[NNI
Osteotome, Curved, mm pos-150.0140  |oosssrssoasora | [N
Osteotome, Curved, 12mm pos-1so.0141  |oosssrssoasost | I[NNI
Osteotome, Curved, 19mm pos-150.0142  |oosssrssoasoss | I[NNI
Foot Plate, Plantigrade Guide, Radiolucent poss00-100s  |ooassrssoaczs | NN

G-INV Rev. A



Inventory Control Sheet - Gorilla, Lapidus Plate Caddy

Patient Name:

8

Paragon 28, Inc.
Orders@Paragon28.com

Date: (855) 786-2828
Descrptin S — T Barcode Lot ay
GORILLA Lapidus Impla Caddly Base (Fll Mol psosoouapc [oosssrosorzstz| (NI
GORILLAS Universal L (For Al Ful Modules - Rinforced) pso-soo-unvc-s [ooasszosossoas|  IINTTNNIIN
Precision® Guide Set Screw, Long pst.sso0002  |oosssrasorzeaz| (NN
Guidewire Sleeve, 12mm pstos00012  [oossozssonzess| NI
Guidewire Sieeve, L4mm pstoso001a  [oossozssonzezs | INNIINIININ
Lapidus Precsion Guie,Lef psvoso-L10s.01 |oossozssonzeo7 | NI
Lapidus Prcision Guide Arm, Right ps1.950-1106.01 [ooasszosorzros | IIHNITNITHN
Lapidus, 4-Hole Standard, Compression Plate, Lt Precision® Guide ps3-1061001  |ooasozosoosso | IINTIIINN
Lapidus, Graft Span Smal,for5-8mim Graft, 4-Hole w/ Cor, Lt psz-106-002  |oossszssooszas| NN
Lapidus, GraftSpan Miecium, for 10-12mm Grats, -Hole, Lef psz-106-00  |oosaszosoos7ss| NI
Lapidus, GraftSpan Large,for 14mm Grafts, -Hole, Lef psz-106-005  [oossszssooszeo | INTNININ
Lapidus, 3 Hole Standard, No Arm, Compression Plate, L, recision® Guide [ps3-106-t101|ooasazososass7 | IINIITIIIHN
Lopidus, Imm Step Plte,Let, Precision® Guide pss-106.201  |ooasorosoos77 | IINTIININN
Lapidus, 2mm Step Plate, Lt Precision® Guide ps106202  |ooasozosoossa| IINTITIEINN
Lapidus, 3mm Step Plate, Lt Precision® Guide pss-1064205  [oosssrosoosror | NN
Lopidus, amm Step Plte,Lef psz-106-200  |oossozssoosso7 | INNHIINININ
Lapidus, Smim Step Plate, Let psz-106-205  [oossszssooss1a | TN
Lapidus, & Hole Standard, Compression Plate, Right, Precsion® Guide  [ps3-106-Ro0 |ooseoosoose2t | NN
Lapidus, Graft Span Smal, for5-8mim Graft, 4-Hole w/ Com, Right pss-106-r002  |oosssrosoossss| NN
Lapidus, GraftSpan Miecium, for 10-12mm Grats, -Hole, Right ps3-106003  |oossozssoossas | NN
Lapidus, GraftSpan Large,for 14mm Grafts, -Hole, Right ps3-106005  [oossszssoosss2 | NN
Lapidus, 3 Hole Standard, No Arm, Compression late i, Precision® Guide [ps3-106-101  |oossoososaeoa | I
Lapidus, 1mm Step Plate, Right, Precison® Guide pss-106.k201  |oosssrasoossss | NI
Lapidus 2mm Step Plate, Rght, Precison® Guide pss-106m202  |ooasozosoosszs| NI
Lapidus, 3mm Step Plate, Right, Precison® Guide pss-106k203  [ooassrosoossss| NN
Lapidus, 4mim Step Plate, Right ps3-1068204  |oossozssoossso|  INNIINHININ
Lapidus, mim Sep Plate, Right psz-106205  [oossszssoossos| NN

GLAP-INV Rev. A



Inventory Control Sheet - Gorilla, Lateral Column Fusion Plate Caddy

Patient Name: Paragon 28, nc.
pate: s raazias
escrption S 7 S T Lot ay
LCF Beam, 5.5 x 80mm, old,Fll Thread psoass.osor  |ooassrsossaco| NN
LCF Beam, 5.5 x 80mm, Sold, Long Thread psoass-oso.  |oosssrssososse| IV
LCF Beam, 5.5 x 85mm, old,Fll Thread psoass.osse  |ooasoresossaz7| NI
LCF Beam, 5.5 x 85mm, old, Long Thread psoass-oss.  |oosssrsosozos| IINIINININ
LCF Beam, 5.5 x 0mm, old,Fll Thread psoass.osor  |ooasorsossaza| IININEIIN
LCF Beam, 5.5 x S0mm, Sold, Long Thread psoassoso.  |oosssrssosoatz| NI
LCF Beam, 5.5 x S5mm, old,Fll Thread psouass-osse  |ooasorosossasn| NI
LCF Beam, 5.5 x 35mm, Sold, Long Thread psoass-oss.  |ooassrssosorzo | IIIINAIINNAN
LCF Beam, 5.5 x 100mm, Sli, Full Thread psouass-oor  |ooassrsosssor| NN
LCF Beam, 5.5 x 100mm, Sli, Long Thread psoass-oo.  |oosss7ssosoass| NI
LCF Beam, 5.5 x 105mm, Sli, Full Thread psoass-tose  |ooasorsososta| NN
LCF Beam, 5.5 x 105mm, old, Long Thead psouass-tost  |oosssrososoaes| NN
LCF Beam, 5.5 x 110mm, Sli, Full Thread psoass-1or  |ooasorsosss2| NN
LCF Beam, 5.5 x 110mm, Sli, Long Thread psoass-1zor  |oosssrssosoaso| NN
LCF Beam, 5.5 x 115mm, Sli, Full Tread psoassise  |ooasorsosssas| NN
LCF Beam, 5.5 x 115mm, Sli, Long Thread psoass-sst  |oosssrsosoze| NN
LCF Beam, 5.5 x 120mm, Sli, Full Thread psoass-120r  |ooassrsosssas| IIINITNNIAN
LCF Beam, 5.5 x 120mm, Sli, Long Thread psoass-120.  |oosssrssosorza| NI
GORILLA® LCF Implant Cady Base (Fll Mocile) pso-sootcrc1  |ooassrososeoss| NN
GORILLAS Universal Lid (For AllFul Modules - Rinforced) pso-soo-unvc-s |oosssrssossoas| NN
LCF Pate Template,Lef, Medium pstaivtor  |ooasorsosaosa| NI
LCF late Termplate, Lef, Large pstavtoor  |oossorsoszos| NN
LCF Pate Template, Right, Mecium pstavroor  |ooassrososaoss| NN
LCF Plate Termplae, Right, Lorge pstavroo  |oossorssoszoes| IV
LCF K Wire Aming Guide pst.o2a0002  |ooasorosossoss| NI
LCF Soint Preparation Paddle pst.s24.0003  |oossorssossses| I
LCF Reamer pst.o2a0004  |ooassrososssz| NI

GLCF-INV Rev. A




GLCF, Gorilla Lateral Column Fusion Plate Caddy

Description

Reference

GTIN

Barcode

Tissue Protector, 5.5.mm

P51-924-0005

00889795056375

Lot #

Qty

Depth Gauge, LCF

P51-924-0006

00889795052179

LCF Plate, Standard, Left

P53-111-L001

00889795040206

LCF Plate, Large, Left

P53-111-L002

00889795040213

LCF Plate, Standard, Right

P53-111-R001

00889795040237

LCF Plate, Large, Right

P53-111-R002

00889795040244

Drill, 3.5 x 190mm, Cannulated, AO

P99-110-3517

00889795050663

Screw Driver Attachment, Solid, AO, TX-25

P99-191-LC25

00889795052186

K-Wire, Single Ended Trocar Tip, SMOOTH, 1.6 x 200mm

P99-192-1620

00889795050694

K-Wire, Single Ended Trocar Tip, THREADED, 1.6 x 200mm, LCF Aiming

P99-193-1620

00889795050700

GLCF-INV Rev. A




Inventory Control Sheet - Gorilla, Lisfranc Plate Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
GLIS-XXX, Gorilla Lisfranc Plate Caddy

Description Reference GTIN Barcode Lot # Qty
GORILLA® Lisfranc Implant Caddy Base (Full Module) P50-900-LSFC-1  |00889795017529 ”""IHI‘HI‘""H“M”l“
GORILLA® Universal Lid (For All Full Modules - Reinforced) P50-900-UNVC-3 (00889795018045 ”""IHIH‘I”"HI"”""“
Lisfranc, Slanted-T, 3-Hole Plate w/ Compression, Left P53-110-LO00 00889795009920 ”""IHIH ‘I‘ "”ll”lml m
Lisfranc, Slanted-T, 4-Hole Plate w/ Compression, Left P53-110-L001 00889795009937 ”""IHIH ‘I‘ "”ll‘ ” m"“
Lisfranc, Slanted-T, 5-Hole Plate w/ Compression, Left P53-110-L002 00889795009944 ”""IHIH ‘I‘ "”ll‘ ||||"|‘|
Lisfranc, Oblique L, 3-Hole Plate, Left P53-110-L100 00889795009951 ”""IHIH ‘I‘ "”llm ” || m
Lisfranc, Oblique L 4-Hole Plate, Lef ps3atottor  foosssrssoossee | NI
Lisfranc, Oblique L, 5-Hole Plate, Left P53-110-L102 00889795009975 ”""IHIH ‘I‘ "”lll Hl”"“
Lisfranc, Dual Ray, 15T & 2ND TMIT Plate, Left, Small ps3a10t201  foosssrssoosss2 | (I
Lisfranc, Dual Ray, 1ST & 2ND TMT Plate, Left, Medium P53-110-L202 00889795009999 ”""IHIH ‘I‘ "”ll‘lll” "“
Lisfranc, Dual Ray, 1ST & 2ND TMT Plate, Left, Large P53-110-L203 00889795010001 ||||||I||I|| |I|||"""||||"||
Lisfranc, Dual Ray, 2ND & 3RD TMT Plate, Left, Small P53-110-L211 00889795010018 ”""IHIH ‘I”"""”l“l m
Lisfranc, Dual Ray, 2ND & 3RD TMIT Plate, Left, Mecium ps3a10t212  foosssrssoroozs | IIININIIININNN
Lisfranc, Dual Ray, 2ND & 3RD TMT Plate, Left, Large P53-110-L213 00889795010032 ”""IHIH ‘I”""""“" m
Lisfranc, 5-Hole Clover Plate, Left, Compression P53-110-L301 00889795010049 ”""IHIH ‘I”l""” |H "l“
Lisfranc, 6-Hole Clover Plate, Left, Compression P53-110-L302 00889795010056 ”""IHIH ‘I”l""”lm"‘l
Lisfranc, Slanted-T, 3-Hole Plate w/ Compression, Right P53-110-R000 00889795010063 ”""IHIH‘I‘"""H'"‘"‘l
Lisfranc, Slanted-T, 4-Hole Plate w/ Compression, Right P53-110-R001 00889795010070 ”""IHIH ‘I”""”l H”"“
Lisfranc, Slanted-T, 5-Hole Plate w/ Compression, Right P53-110-R002 00889795010087 ”""IHIH ‘I”"""Hl”"‘l
Lisfranc, Oblique L, 3-Hole Plate, Right P53-110-R100 00889795010094 ”""IHIH ‘I‘"""HI“ ‘"‘l
Lisfranc, Oblque L 4-Hole Plate, Right ps310n101  foosssssozoroo | IIIIINIIINIIH
Lisfranc, Oblique L, 5-Hole Plate, Right P53-110-R102 00889795010117 ”""IHIH ‘I”""”"ll ‘l m
Lisfranc, Dual Ray, 15T & 2ND TMIT Plate, Right, Small ps3a10m201  foosssssoronza | (IR
Lisfranc, Dual Ray, 1ST & 2ND TMT Plate, Right, Medium P53-110-R202 00889795010131 ”""IHIH ‘I”"""l ” ||| m
Lisfranc, Dual Ray, 1ST & 2ND TMT Plate, Right, Large P53-110-R203 00889795010148 ”""IHIH ‘I”l""“l”l "“

GLIS-INV Rev. A




8

GLIS-XXX, Gorilla Lisfranc Plate Caddy

Barcode

Lot #

Qty

Description Reference GTIN

Lisfranc, Dual Ray, 2ND & 3RD TMT Plate, Right, Small P53-110-R211 00889795010155
Lisfranc, Dual Ray, 2ND & 3RD TMT Plate, Right, Medium P53-110-R212 00889795010162
Lisfranc, Dual Ray, 2ND & 3RD TMT Plate, Right, Large P53-110-R213 00889795010179
Lisfranc, 5-Hole Clover Plate, Right, Compression P53-110-R301 00889795010186
Lisfranc, 6-Hole Clover Plate, Right, Compression P53-110-R302 00889795010193

GLIS-INV Rev. A



Inventory Control Sheet - Gorilla, Medial Column Plate Caddy

Patient Name:

Date:

8

Paragon 28, Inc.

Orders@Paragon28.com

(855) 786-2828

GMED, Gorilla Medial Column Plate Caddy

Description

Reference

GTIN

Bar Code

GORILLA® Medial Column Arch Plate Caddy (Full Module)

P50-900-MCAC-1

00889795018038

Lot #

Qty

GORILLA® Universal Lid (For All Full Modules - Reinforced)

P50-900-UNVC-3

00889795018045

Medial Column Rescue Plate, 1.5mm Thickness, 9-Hole P53-109-1009 00889795017734
Medial Column Rescue Plate, 1.5mm Thickness, 11-Hole P53-109-1011 00889795017741
Medial Column Rescue Plate, 1.5mm Thickness, 15-Hole P53-109-1015 00889795017758
Medial Column Rescue Plate, 2.0mm Thickness, 9-Hole P53-109-1109 00889795017765
Medial Column Rescue Plate, 2.0mm Thickness, 11-Hole P53-109-1111 00889795017772
Medial Column Rescue Plate, 2.0mm Thickness, 15-Hole P53-109-1115 00889795017789
Medial Column Arch Plate, 1.5mm Thickness, Left, Small P53-109-L001 00889795017796
Medial Column Arch Plate, 1.5mm Thickness, Left, Medium P53-109-L002 00889795017802
Medial Column Arch Plate, 1.5mm Thickness, Left, Large P53-109-L003 00889795017819
Medial Column Proximal Arch Plate, 1.5mm Thickness, Left, Small P53-109-L011 00889795017826
Medial Column Proximal Arch Plate, 1.5mm Thickness, Left, Medium P53-109-L012 00889795017833
Medial Column Proximal Arch Plate, 1.5mm Thickness, Left, Large P53-109-L013 00889795017840
Medial Column Arch Plate, 2.0mm Thickness, Left, Small P53-109-L101 00889795017918
Medial Column Arch Plate, 2.0mm Thickness, Left, Medium P53-109-L102 00889795017925
Medial Column Arch Plate, 2.0mm Thickness, Left, Large P53-109-L103 00889795017932
Medial Column Distal Arch Plate, 2.0mm Thickness, Left, Small P53-109-L111 00889795017949
Medial Column Distal Arch Plate, 2.0mm Thickness, Left, Medium P53-109-L112 00889795017956
Medial Column Distal Arch Plate, 2.0mm Thickness, Left, Large P53-109-L113 00889795017963
Medial Column Extended Arch Plate, 2.0mm Thickness, Left, Small P53-109-L151 00889795020253
Medial Column Extended Arch Plate, 2.0mm Thickness, Left, Medium P53-109-L152 00889795020260
Medial Column Extended Arch Plate, 2.0mm Thickness, Left, Large P53-109-L153 00889795020277
Gorilla Grip™ Plate, 2.0mm Thickness, Left, X-Small P53-109-L210 00889795034779
Gorilla Grip™ Plate, 2.0mm Thickness, Left, Small P53-109-L211 00889795034786
Gorilla Grip™ Plate, 2.0mm Thickness, Left, Medium P53-109-L212 00889795034793
Gorilla Grip™ Plate, 2.0mm Thickness, Left, Large P53-109-L213 00889795034809
Gorilla Grip™ Plate, 2.0mm Thickness, Left, X-Large P53-109-L214 00889795034816

GMED-INV Rev. A



8

GMED, Gorilla Medial Column Plate Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

Medial Column Arch Plate, 1.5mm Thickness, Right, Small P53-109-R001 00889795017857
Medial Column Arch Plate, 1.5mm Thickness, Right, Medium P53-109-R002 00889795017864
Medial Column Arch Plate, 1.5mm Thickness, Right, Large P53-109-R003 00889795017871
Medial Column Proximal Arch Plate, 1.5mm Thickness, Right, Small P53-109-R0O11 00889795017888
Medial Column Proximal Arch Plate, 1.5mm Thickness, Right, Medium P53-109-R012 00889795017895
Medial Column Proximal Arch Plate, 1.5mm Thickness, Right, Large P53-109-R013 00889795017901
Medial Column Arch Plate, 2.0mm Thickness, Right, Small P53-109-R101 00889795017970
Medial Column Arch Plate, 2.0mm Thickness, Right, Medium P53-109-R102 00889795017987
Medial Column Arch Plate, 2.0mm Thickness, Right, Large P53-109-R103 00889795017994
Medial Column Distal Arch Plate, 2.0mm Thickness, Right, Small P53-109-R111 00889795018007
Medial Column Distal Arch Plate, 2.0mm Thickness, Right, Medium P53-109-R112 00889795018014
Medial Column Distal Arch Plate, 2.0mm Thickness, Right, Large P53-109-R113 00889795018021
Medial Column Extended Arch Plate, 2.0mm Thickness, Right, Small P53-109-R151 00889795020284
Medial Column Extended Arch Plate, 2.0mm Thickness, Right, Medium P53-109-R152 00889795020291
Medial Column Extended Arch Plate, 2.0mm Thickness, Right, Large P53-109-R153 00889795020307
Gorilla Grip™ Plate, 2.0mm Thickness, Right, X-Small P53-109-R210 00889795034724
Gorilla Grip™ Plate, 2.0mm Thickness, Right, Small P53-109-R211 00889795034731
Gorilla Grip™ Plate, 2.0mm Thickness, Right, Medium P53-109-R212 00889795034748
Gorilla Grip™ Plate, 2.0mm Thickness, Right, Large P53-109-R213 00889795034755
Gorilla Grip™ Plate, 2.0mm Thickness, Right, X-Large P53-109-R214 00889795034762

GMED-INV Rev. A



Inventory Control Sheet - Gorilla, MTP Plate Caddy

Patient Name:

P8

Paragon 28, Inc.
Orders@Paragon28.

com

Date: (855) 786-2828
S [T S T i— &
\ITP Spin Guard™ Female Reamer, 17mm pot-s00-1702  [oosaozasosasos | IIININIIIINI
TP Spin Guarc™ Male Reamer, 17mm por-o00-1703  [oosaozasosaons | IIIINIINNII
\ITP Spin Guard™ Female Reamer, 15mm pot-s00-1902  [oosaozasoses2| I
TP Spin Guard™ Male Reamer, 19mm poz-o00-1903  [oosaozasosasso | NN
\ITP Spin Guard™ Female Reamer, 21mm pot-s00-2102  [oosaozasosasas|  IIIIINIIHIIIIN
TP Spin Guard™ Male Reamer, 21mm po1-900-2103  [oosaozasosaoss| I
\ITP Spin Guard™ Female Reamer, 23mm pot-s00-2302  [oosaozasosasso| I
TP Spin Guard™ Male Reamer, 23mm por-900-2303  [oosaozasosaor7 | NI
TP Spin Guard™ Male Reamer ProtectorSieeve, 17mm  [pove11-1701  |ooassresosaszs | NN
TP Spin Guard™ Female Reamer Protector Seeve, 17mm  [povs11-1702  |ooasszososason | IIIHITIIN
ITP Spin Guard™ Male Reamer ProtectorSieeve, omm  [povs1s01  |ooass7esossoos |  INIHITHINN
TP Spin Guard™ Female Reamer Protector Seeve, 19mm  [povs1s02  |ooaszosossora | INIHIHIIN
TP Spin Guard™ Male Reamer ProtectorSieeve, 2imm  [pov-s11:2101  |ooassresossozs | NN
TP Spin Guard™ Female Reamer Protector Seeve, 21mm  [pov-s11:2102  |ooassrosossoss | NN
ITP Spin Guard™ Male Reamer ProtectorSieeve, 23mm  [pov-e11:2301  |ooassresossos2 | NN
TP Spin Guard™ Female Reamer Protector Seeve, 23mm  [pov-s11:2302  |ooassrosossoso | IIINHIIIINN
Vi Implan Cadely Sase,Gorila pso-soo-mrec  foosaozasonzsss| NN
GORILLA® Universal L For All Full Moduies - Renforced)  [pso-soo-unve-3. oossszssossoas | NN
Precision® Guide SetScrew, Short pst.os0.0001  foosaozasonzess| I
Guidewire Sieeve, 10mm pst.os0.0010  foosaozasonzeso | I
Guidewire Sieeve, 12mm pst.os0.0012  [oosaozasonzess|  IIIINIINIHITI
Precision Guide MTP, Housing ps1.950.0103-01. [oosaozasonzeso | IV
ITP Pate, O, Short Lef ps3-103-001  [oosaozasoosass| NN
ITP Plate, 0, Medium,Lef ps3-103-1002  [oosaozasoosaz2 | IIITINTNTHNI
TP Plate, O, Long,Lef ps3-103:003  [oosaozasoosaso | IIIIINTINENI

GMTP-INV Rev. A




P8

GMTP, Gorilla MTP Plate Caddy

Barcode

Lot #

Qty

Description Reference GTIN

MTP Plate, 0°, Short-Short, Left, 2-Hole Distal P53-103-L004 00889795012517
MTP Plate, 5°, Short, Left P53-103-L051 00889795009296
MTP Plate, 5°, Medium, Left P53-103-L052 00889795009302
MTP Plate, 5°, Long, Left P53-103-L053 00889795009319
MTP Plate, 5°, Short-Short, Left, 2-Hole Distal P53-103-L054 00889795012524
MTP Plate, 10°, Short, Left P53-103-L101 00889795009326
MTP Plate, 10°, Medium, Left P53-103-L102 00889795009333
MTP Plate, 10°, Long, Left P53-103-L103 00889795009340
MTP Plate, 10°, Short-Short, Left, 2-Hole Distal P53-103-L104 00889795012531
MTP Plate, 5°, Revision Plate, Short, Left P53-103-L151 00889795009357
MTP Plate, 5°, Revision Plate, Medium, Left P53-103-L152 00889795009364
MTP Plate, 5°, Revision Plate, Long, Left P53-103-L153 00889795009371
MTP Plate, 5°, Graft Spanning, Left P53-103-L252 00889795009388
MTP Plate, 0°, Short, Right P53-103-R001 00889795009395
MTP Plate, 0°, Medium, Right P53-103-R002 00889795009401
MTP Plate, 0°, Long, Right P53-103-R003 00889795009418
MTP Plate, 0°, Short-Short, Right, 2-Hole Distal P53-103-R004 00889795012548
MTP Plate, 5°, Short, Right P53-103-R051 00889795009425
MTP Plate, 5°, Medium, Right P53-103-R052 00889795009432
MTP Plate, 5°, Long, Right P53-103-R053 00889795009449
MTP Plate, 5°, Short-Short, Right, 2-Hole Distal P53-103-R054 00889795012555
MTP Plate, 10°, Short, Right P53-103-R101 00889795009456
MTP Plate, 10°, Medium, Right P53-103-R102 00889795009463
MTP Plate, 10°, Long, Right P53-103-R103 00889795009470
MTP Plate, 10°, Short-Short, Right, 2-Hole Distal P53-103-R104 00889795012562
MTP Plate, 5°, Revision Plate, Short, Right P53-103-R151 00889795009487
MTP Plate, 5°, Revision Plate, Medium, Right P53-103-R152 00889795009494
MTP Plate, 5°, Revision Plate, Long, Right P53-103-R153 00889795009500

GMTP-INV Rev. A



P8

GMTP, Gorilla MTP Plate Caddy

Barcode

Lot #

Qty

Description Reference GTIN
MTP Plate, 5°, Graft Spanning, Right P53-103-R252 00889795009517
K-Wire, Single Ended Trocar Tip, SMOOTH, 1.6 x 150mm P99-192-1615 00889795019936

GMTP-INV Rev. A



Inventory Control Sheet - Gorilla, NC Fusion Plate Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
Seseipton N T o T— &
GORILLA® Bow Implant Cady Li pso-s00-sowc:2 [oosszosorzazs | (NI
GORILLA® NC Fusion Cadidy Base (Half Modie) pso-soo-ncrs-1  [oossorssosatas | (NN
GORILLA® NC Fusion Cadidy Insrt (Half Moduie) pso-soo-ncs-2 |oossorssosatzo | (NI
NC Fusion Rearmer ps1.023.0001  [oossozososazas | IIININNIITININ
Template, NC Fusion late Left, Small ps1-023.301  [oosozososaxta | (NN
Template, NC Fusion late Left, Mecium psto23302  [oossorssosazzs | (NN
Template, NC Fusion late Left, Lorge psts23.303  |oossorssosazss | IINNIIIIIN
Template, NC Fusion late Left, X-Large ps1-023.304  [oossozososazas | [IIIINHIIIIINN
Template, NC Fusion late Right, Small ps1-o23rs0r  [oossozososaaso | NN
Template, NC Fusion late Rght, Medium psts3ma02  [oossorssosazer | NN
Template, NC Fusion late Right, Large pst.s3a03  [oossorssosazza | (NN
Template, NC Fusion Plate Right, X-Large ps1-o23.r30e  [oosozososazsa | NN
Precision® Guide St Screw, Long ps1-os0.0002  [oosozosorzeaa | I
Guidewire sleeve, 12mm pstosoor2  [oossorssoress | NI
Guidewire Sleeve, 1.4mm pstoso.oota  [oossorssorzers | IINHINIIEIN
Guidevire Sieeve, 1.6mm ps1.0s0.0016  [oosozososazss | NN
NC Precsion® Guide, Let ps1-051-1100:01 [oossszososazoa | NI
NC Precision® Guide, Right pst.esinaos.01 |oossorssosaznt | IINHIININN
NC Fusion Plate, 1.5mm Thickness, Let, Smal pss100301  [oossorssosara | IIIINHINIIANN
NC Fusion Plate, 1.5mm Thickness, Left, Mecium pss1001302  [oosorososasaa | [IIIINHIININIIN
NC Fusion Plate, 1.5mm Thickness, Left Large pss-100.1303  [oossozososassa | (NI
NC Fusion Plate, 1.5mm Thickness, Left, X Large pss-100.4304  [oossorssosases| NN
NC Fusion Plate, 1.5mm Thickness, Right, Small pss-100.301  |oossoresosatzs | (NN
NC Fusion Plate, 1.5mm Thckness, Right, Medium pss-100.k302  [oosozososassa | IIIIINHIIIININ
NC Fusion Plate, 1.5mm Thickness, Right, Large ps3-100.k303  [oosozososasss | [IININHIININIT

GNCFS-INV Rev. A




GNCFS, Gorilla NC Fusion Plate Caddy

Barcode

Lot #

Qty

Description Reference GTIN

NC Fusion Plate, 1.5mm Thickness, Right, X-Large P53-109-R304 00889795034205
K-Wire, Single Ended Trocar Tip, SMOOTH, 1.4 x 100mm P99-192-1410 00889795034045
Olive Wire, SMOOTH, 1.3mm P99-200-1306 00889795019943

GNCFS-INV Rev. A




Inventory Control Sheet - Silverback, Anterior Plate Caddy

Patient Name:

Date:

Orders@Paragon28.com

Paragon 28, Inc.

(855) 786-2828

GSBANT, Silverback Anterior Plate Caddy

Description Reference GTIN Bar Code Lot # aty
Anterior TT Plate, Standard, Contoured, Let pssaot101  |ooasorssostzs| NI
Anterior TT Plate Standard, Right pssaovraor  |oosssresosizoo| IV
Anterir TT Plate, Long, Contoured, Lef pssa011102  |ooasorssosssss| LI
Anterior TT Plate, Long, Right pssaorra0z  |oossorssosasss| IIINNITHNIN
Anterior TT Plate, Standard, Flat Left pssa01-201  |ooasorssostzss| [N
Anterior T Plat, Standard, it Right pssaovroo1  |oosssrssosssos| NN
Anterior TT late, Long, la, Lef pssa01-1202  |ooasorssosssos| NN
Anterior TT Plate, Long,Fat, Right pssaorra02  |oossorssosaoss| NN
Anterio TTC Plate, Contoured, Lef psaoti1i1  |ooasorssossss| NN
Anterior TTC Plate, Contoured, Right pssaotnirn  |ooassrssosseso| NN
Anterior TTC Plate, it Lef pssaot211  |ooasorssosssar | IIIIILIINIHNIN
Anterior TTC Pate, Fat, Right pssaovrans  |oossorssosassa| NN
Precision® Guide AT ps1-o0-so0r  |ooassrssosoros|  IIIILIIIININ
Precision® Guide Arm, Flat Plates pstssosi01  |oossoresosasso| NN
Precisions Guide KWire Tube, 1.6mrm ps1.080.5010-16 [oosaozososa227 | IIIINIINNINI
Precision® Guide KWire Tube, 2.3mm ps1.080.5010.23 |ooasszssosazsa| NI
Precisions Guide Set Screw, Silerback ps1.0s0.s003  [oosaozososos3| NI
(Wi guide, Ball Tip, Sikerback™ pst.ososo0s  |oosssrssoseaso| NN
Siverback, Ankle Fusion, Anteior Caddy Base pso-soo-saant  foosaozasose22| [N
Siverback, Ankle Fusion, 50 Caidy L psosoossos  |ooassrssoserss| NI

GSBANT-INV Rev. A



Inventory Control Sheet - Silverback, Instrument Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
Deserption ST Bar code Lots ay
Sierback, Anke Fusion, Cose Base pso-soo-001  foasssrssosesso| IINNIITHINI
Sierback, Anke Fuson, Insrument Tray pso-soo-1002  |oosszososeass| NINNNITNIN
Siverback, Anke Fusion, Lower Implant Tray pso-soo-1003  |oosszososzsoa| NN
Siverback, Anke Fusion, Upper Implant Tay pso-soo-100s  |oossrososeias| NN
BABY GORILLA® Case L, Full Din pso-soo00  foasssresossses| NN
3.5 Locking Dril Gide, Long, R3CON pst.so0-100s  |oossszososasss| NN
42 Locking Drill Guide, Long, R3CON pst.so0-1006  |oossszososasos| NN
4.5 Locking Drill Guide, Long, Silerback pst.so0s00s  |oosssrososaaor | NN
5.2 Locking il Guide, Long, ikerback pst.so0so0s  foassorososaass| IINNINIHNINE
Fasy Guide, Long, Double-siced, Cone/Straight, 3.5mm pst.sovsias  |oossorososaazs| NN
Easy Guide, Long, Double-iced, Cone/Straight, 4.2mm pstsovsiez  |oosssrososaas| NNV
Easy Guide, Long, Double-iced, Cone/Straight, 4.5mm pst.sovsias  |oosssrososaass| IIINNIINNIN
Easy Guide, Long, Double-sice, Cone/Straight, 5.2mm pstsovsisa  |oossorososaass| NN
Centering Drill Guide, Long, 3.5mm, R3CON™ pst.soz00s  |oosszososaass| NI
Centering Drill Guide, Long, 4.2mm, R3CON™ pst.soz-100s  |oossszososaazo| NN
Centering Drill Guide, Long, 4.5mm, Silverback pst.sozso0s  |oosssrososaas? | IIINNIININ
Centering Drill Guide, Long, 5 2mm, Sikverback pst.sozso06  foassorososassa| NN
45mm Compression ot il Guide, Sikerback pst.sozs00s  |oossozososastz | IINNNIHNIN
5 2mm Compression ot il Guide, Sikerback pst.sozs00s  |oossszososas2a| NN
Over il Guide, Double Ended (3.5/4.2 & 4.5/5.2mm) pst.sos.s001  |oossrososasoo| IIINIHININ
Fat Plte Bender pst.s101002  foassoresososs| IINNIINIT
Threaded Bending Bar, Double Enied, Sikerback pst.otos001  |oossozososeass| NN
Tap, Double Lead, 4.5mm pstovasoo  |oossszosossors| NN
Tap, Double Lead, 5.2mm psorvsa00  |oosssrosossoz2| NN
T Handle, 3/16" 5q. Adaptor, Cannulated,Ratcheting pos.coo316r  foasssresoaose7 | IINNIIIIHIN
Mini-AO, Rtcheting Handle Streamiine, Cannulated, Lorge pos.ooo-aot  |oossszososazer | INHITINITN
Mini-A0, Rtcheing Handle Streamiine, Cannulated, Medium poscoo-aomn |ooss7osoaosza| IIIHINIIEIN
Bone Fenestration Peforator pos-100:2010  |oosssrososastz| NN

GSBINS-INV Rev. A




GSBINS, Silverback Instrument Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

Drill, 2.4 x 160mm, Solid, Measuring, Long, AO P99-100-2416 00889795053329
Drill, 2.8 x 160mm, Solid, Measuring, Long, AO P99-100-2816 00889795053336
Drill, 3.1 x 160mm, Solid, Measuring, Long, AO P99-100-3116 00889795053343
Over Drill, 3.5 x 110mm, Solid, AO P99-100-3511 00889795040510
Drill, 3.6 x 160mm, Solid, Measuring, Long, AO P99-100-3616 00889795053350
Over Drill, 4.2 x 120mm, Solid, AO P99-100-4212 00889795040534
Over Drill, 4.5 x 120mm, Solid, AO P99-100-4512 00889795053367
Over Drill, 5.2 x 120mm, Solid, AO P99-100-5212 00889795053374
Screw Forceps P99-150-0001 00889795019882
Hindfoot Distractor, 2.5 & 3.0 K-Wire P99-150-0010 00889795040770
Bone Fenestration Chisel P99-150-0035 00889795040893
Cartilage Removal Tool, Large P99-150-0055 00889795054265
Curette, 20° Angled, 7mm P99-150-0094 00889795054272
Curette, Ring, Straight, 7mm P99-150-0095 00889795054289
Curette, Curved, 7mm P99-150-0096 00889795054296
Curette, Ring, 20° Angled, 7mm P99-150-0097 00889795054302
Bone Fenestration Chisel, Curved P99-150-0135 00889795054364
Depth Gauge Plate Screw, 85mm Screw P99-150-0136 00889795054371
Osteotome, Straight w/ Handle, 6mm P99-150-1241 00889795054319
Osteotome, Straight w/ Handle, 12mm P99-150-1243 00889795054326
Osteotome, Curved w/ Handle, 3mm P99-150-1340 00889795054333
Osteotome, Curved w/ Handle, 6mm P99-150-1341 00889795054340
Osteotome, Curved w/Handle, 12mm P99-150-1343 00889795054357
Screw Driver Attachment, Solid, Long, AO, HX-10, Short Taper, R3CON™ P99-191-LR10 00889795054548
Screw Driver Attachment, Solid, Long, AO, HX-15, Short Taper, SILVERBACK™ [P99-191-SB15 00889795051981
Foot Plate, Plantigrade Guide, Radiolucent P99-900-1005 00889795041623

GSBINS-INV Rev. A




Inventory Control Sheet - Silverback, K-Wire Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
B T T — &
Siverback, Anke Fusion, K Wire Caddy Base pso-soo-xwes oosssrssossico| NI

Siverback, Ankle Fusion, K Wire Caddy Lid pso-soo-wer  [oossoresose177 | I

(Wire Hole Gauge & Ruler pos-150.0005 oossorssorsaos | IV

(Wire, Single Ended Trocar Tip, SMoOTH, 20x 200mm  [pos-192:2020  [oosaoososaass | [N

(Wire, Sngle Ended Trocar T, SMoOTH, 2.5 x 1somm  [pos-192:2515  [oosaozosoatass | ININNIIINI

(Wire, Single Ended Tocar T, THREADED, 20 200mm [pos-13-2020  [oosssososaaa2 | IIINTITNIIE

(Wire, Sngle Ended Trocar Tip, THREADED, 25 x somm _[pos-193:2s1s [oosasososes72 | IIINNIIIITHNN

Half Olive Wire, Large Olve (7mm), 1.6 x8omm, Smootn [p9s-204-1608  [oosaozososaaso |  IIINNIHINN

Half Olive Wi, Large Olve (7mm), 1.6 x92mm, Smootn  [p9s-204-1605  [ooszoosossass | ININNITTHN

HalfOlive Wire, Large Oliv (7mm), 1.6 x8omm, Threadied |pos-205-1608  [oosssososaaz3 | NI

HalfOlive Wire, Large Ofive (7mm), 1.6 x92mm, Threadied [po9-205-1609  [aogssososaazo| NN

GSBKWC-INV Rev. A




Inventory Control Sheet - Silverback, Lateral Plate Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
B S T T &
Lateral TT Plate, Standard, Lef pssa02-001  |ooassrososzizs| IILIININI

Lateral TT Plate, Standard, Right pssa0z-noor  |ooassrososiss| I

Lateral TTC Plate, Standiard, Lef pssa0-101  |ooassrosossis2 | IIIILIININAN

Lateral TTC Plate, Standard, Right pssa0-mor  |ooassrososszos | IIIILIINNINN

Lateral TTC Plate, Long, Lef pssa0-102  |ooassresostes| NI

Lateral TTC Plate, Long,Right pssa0-moz  |ooassrososs213| LI

Precision® Guide Arm, Tiiotalar Joint, Guide Arn [pst-os1s001  foosesasosasey | INNNIINININ

Precisions Guide Armight, Siverback™ ps1-ostsior  |ooassrososazos | NN

Precisions Guide ArmLft, Silverback™ psi-ostso.  |ooassrososazio| INILINIIIN

Precisions Guide Set Screw, ilverback ps1-00-5003  |ooassrososozos | IIIIILIIIINNIN

Precisions Guide K-Wire Tube, 1.6 ps1-980-s010-16 |ooassrososa27 | IIILIINNIAI

Precisions Guide K-Wire Tube, 2.3 ps1-980-501023 |ooassrososa2se | IILIINIINN

SILVERBACK'™ Lateral Implant Cadely Base (Full Module) [ps0-o00-sataT  [oosss7ssosstsa | INNILITIHNI

Siverback, Ankle Fusion, 8% Caddy Li pso-soo-sass  [ooassresosstas | IIILIINININ

GSBLAT-INV Rev. A




Patient Name:

Inventory Control Sheet - Silverback, Screw Caddy

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
N TS R &
Screw Fat/Dome Washer, 4.5, & 5.2mm pso-1szwaoo  foosaozasosase7 | NI
Screw Fat/Dome Washer, 2., 3.5 & 4.2mm pso-1szwsoo  foosaozasoorz2 | TN
RSCON™ Locking Plate Srew, 3.5 x Lamm psosszasia  foosaozosoreazs| NI
RSCON™ Locking late Srew, 3.5 x 16mm psosszasis  foosaozosoreass| NN
RSCON™ Locking late Srew, 3.5 x 18mm psosszasis  foosaozosoneasz | NI
RSCON™ Locking Plate Srew, 3.5 x 20mm pso-sszas20  foosaozasonesos| NN
RSCON™ Locking late Srew, 3.5 x 22 psosszasz2  foosaozosonesss| NN
RSCON™ Locking late Srew, 3.5 x 24mm psosszasze  foosaozosones22| TN
RSCON™ Locking late Srew, 3.5 x 26mm pso-sszaszs  foosaozasonesso | IINHNINNIINNN
RSCON™ Locking Plate Srew, 3.5 x 28mm psosszaszs  foosaozosoreses| NI
RSCON™ Locking Pate Screw, 3.5 x 30mm pso3s33sa0  foosaszosoresss| ININNTINIIN
RSCON™ Locking Plate Srew, 42 x Lamm pso-sszazia foosaozosonesss | NN
RSCON™ Locking Plate Srew, 42 x 16mm psosszaz1s  foosaozosoresso| NN
RSCON™ Locking Plate Srew, 42 x 18mm pso-sszazis  foosaozosoreos|  IIIHNINNIN
RSCON™ Locking Plate Srew, 42 20mm psossza220  foosaozosoness|  IITHNINNIN
RSCON™ Locking late Srew, 42 x22mm psossz.4222  foosaozasorsr2o| TN
RSCON™ Locking late Srew, 42 x 24mm psosszazze  foosaozosones7 | IIINHNINIIIIN
RSCON™ Locking late Srew, 42 x 26mm psosszaz26  foosaozosoreres| IINHNINININ
RSCON™ Locking Plate Srew, 42 28mm psosszazzs  foosaozosonerst | NN
RSCON™ Locking Plate Srew, 42 x 3omm pso-ssza230  foosaozosorezes | IIINIHINI
RSCON™ Locking late Srew, 42 32mm psossza232  foosaozosonerzs | NI
RSCON™ Locking late Srew, 42 x 34mm psosszazsa  foosaozosonesz | IIINIHNAN
RSCON™ Locking Plate Srew, 42 x 36mm e
RSCON™ Locking Plate Srew, 42 x 38mm pso-sszaz3s  foosaozososesos|  IIIIHNINNININ
RSCON™ Locking Plate Srew, 42 x 4omm psosszazao  foosaozosonestz | IIINIHININ

GSBSCW-INV Rev. A




GSBSCW - Gorilla Silverback Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

R3CON™ Locking Plate Screw, 4.2 x 42mm P50-353-4242 00889795016829
R3CON™ Locking Plate Screw, 4.2 x 44mm P50-353-4244 00889795016836
R3CON™ Locking Plate Screw, 4.2 x 46mm P50-353-4246 00889795016843
R3CON™ Locking Plate Screw, 4.2 x 48mm P50-353-4248 00889795016850
R3CON™ Locking Plate Screw, 4.2 x 50mm P50-353-4250 00889795016867
R3CON™ Locking Plate Screw, 4.2 x 55mm P50-353-4255 00889795016874
R3CON™ Locking Plate Screw, 4.2 x 60mm P50-353-4260 00889795016881
R3CON™ Non-Locking Plate Screw, 3.5 x 14mm P50-453-3514 00889795016935
R3CON™ Non-Locking Plate Screw, 3.5 x 16mm P50-453-3516 00889795016942
R3CON™ Non-Locking Plate Screw, 3.5 x 18mm P50-453-3518 00889795016959
R3CON™ Non-Locking Plate Screw, 3.5 x 20mm P50-453-3520 00889795016966
R3CON™ Non-Locking Plate Screw, 3.5 x 22mm P50-453-3522 00889795016973
R3CON™ Non-Locking Plate Screw, 3.5 x 24mm P50-453-3524 00889795016980
R3CON™ Non-Locking Plate Screw, 3.5 x 26mm P50-453-3526 00889795016997
R3CON™ Non-Locking Plate Screw, 3.5 x 28mm P50-453-3528 00889795017000
R3CON™ Non-Locking Plate Screw, 3.5 x 30mm P50-453-3530 00889795017017
R3CON™ Non-Locking Plate Screw, 4.2 x 14mm P50-453-4214 00889795017147
R3CON™ Non-Locking Plate Screw, 4.2 x 16mm P50-453-4216 00889795017154
R3CON™ Non-Locking Plate Screw, 4.2 x 18mm P50-453-4218 00889795017161
R3CON™ Non-Locking Plate Screw, 4.2 x 20mm P50-453-4220 00889795017178
R3CON™ Non-Locking Plate Screw, 4.2 x 22mm P50-453-4222 00889795017185
R3CON™ Non-Locking Plate Screw, 4.2 x 24mm P50-453-4224 00889795017192
R3CON™ Non-Locking Plate Screw, 4.2 x 26mm P50-453-4226 00889795017208
R3CON™ Non-Locking Plate Screw, 4.2 x 28mm P50-453-4228 00889795017215
R3CON™ Non-Locking Plate Screw, 4.2 x 30mm P50-453-4230 00889795017222
R3CON™ Non-Locking Plate Screw, 4.2 x 32mm P50-453-4232 00889795017239
R3CON™ Non-Locking Plate Screw, 4.2 x 34mm P50-453-4234 00889795017246
R3CON™ Non-Locking Plate Screw, 4.2 x 36mm P50-453-4236 00889795017253

GSBSCW-INV Rev. A




GSBSCW - Gorilla Silverback Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

R3CON™ Non-Locking Plate Screw, 4.2 x 38mm P50-453-4238 00889795017260
R3CON™ Non-Locking Plate Screw, 4.2 x 40mm P50-453-4240 00889795017277
R3CON™ Non-Locking Plate Screw, 4.2 x 42mm P50-453-4242 00889795017284
R3CON™ Non-Locking Plate Screw, 4.2 x 44mm P50-453-4244 00889795017291
R3CON™ Non-Locking Plate Screw, 4.2 x 46mm P50-453-4246 00889795017307
R3CON™ Non-Locking Plate Screw, 4.2 x 48mm P50-453-4248 00889795017314
R3CON™ Non-Locking Plate Screw, 4.2 x 50mm P50-453-4250 00889795017321
R3CON™ Non-Locking Plate Screw, 4.2 x 55mm P50-453-4255 00889795017338
R3CON™ Non-Locking Plate Screw, 4.2 x 60mm P50-453-4260 00889795017345
SILVERBACK™ Locking Plate Screw, 4.5 x 14mm P50-553-4514 00889795050854
SILVERBACK™ Locking Plate Screw, 4.5 x 16mm P50-553-4516 00889795050861
SILVERBACK™ Locking Plate Screw, 4.5 x 18mm P50-553-4518 00889795050878
SILVERBACK™ Locking Plate Screw, 4.5 x 20mm P50-553-4520 00889795050885
SILVERBACK™ Locking Plate Screw, 4.5 x 22mm P50-553-4522 00889795050892
SILVERBACK™ Locking Plate Screw, 4.5 x 24mm P50-553-4524 00889795050908
SILVERBACK™ Locking Plate Screw, 4.5 x 26mm P50-553-4526 00889795050915
SILVERBACK™ Locking Plate Screw, 4.5 x 28mm P50-553-4528 00889795050922
SILVERBACK™ Locking Plate Screw, 4.5 x 30mm P50-553-4530 00889795050939
SILVERBACK™ Locking Plate Screw, 4.5 x 32mm P50-553-4532 00889795050946
SILVERBACK™ Locking Plate Screw, 4.5 x 34mm P50-553-4534 00889795050953
SILVERBACK™ Locking Plate Screw, 4.5 x 36mm P50-553-4536 00889795050960
SILVERBACK™ Locking Plate Screw, 4.5 x 38mm P50-553-4538 00889795050977
SILVERBACK™ Locking Plate Screw, 4.5 x 40mm P50-553-4540 00889795050984
SILVERBACK™ Locking Plate Screw, 4.5 x 42mm P50-553-4542 00889795050991
SILVERBACK™ Locking Plate Screw, 4.5 x 44mm P50-553-4544 00889795051004
SILVERBACK™ Locking Plate Screw, 4.5 x 46mm P50-553-4546 00889795051011
SILVERBACK™ Locking Plate Screw, 4.5 x 48mm P50-553-4548 00889795051028
SILVERBACK™ Locking Plate Screw, 4.5 x 50mm P50-553-4550 00889795051035

GSBSCW-INV Rev. A




GSBSCW - Gorilla Silverback Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

SILVERBACK™ Locking Plate Screw, 4.5 x 55mm P50-553-4555 00889795051042
SILVERBACK™ Locking Plate Screw, 4.5 x 60mm P50-553-4560 00889795051059
SILVERBACK™ Locking Plate Screw, 5.2 x 14mm P50-553-5214 00889795051066
SILVERBACK™ Locking Plate Screw, 5.2 x 16mm P50-553-5216 00889795051073
SILVERBACK™ Locking Plate Screw, 5.2 x 18mm P50-553-5218 00889795051080
SILVERBACK™ Locking Plate Screw, 5.2 x 20mm P50-553-5220 00889795051097
SILVERBACK™ Locking Plate Screw, 5.2 x 22mm P50-553-5222 00889795051103
SILVERBACK™ Locking Plate Screw, 5.2 x 24mm P50-553-5224 00889795051110
SILVERBACK™ Locking Plate Screw, 5.2 x 26mm P50-553-5226 00889795051127
SILVERBACK™ Locking Plate Screw, 5.2 x 28mm P50-553-5228 00889795051134
SILVERBACK™ Locking Plate Screw, 5.2 x 30mm P50-553-5230 00889795051141
SILVERBACK™ Locking Plate Screw, 5.2 x 32mm P50-553-5232 00889795051158
SILVERBACK™ Locking Plate Screw, 5.2 x 34mm P50-553-5234 00889795051165
SILVERBACK™ Locking Plate Screw, 5.2 x 36mm P50-553-5236 00889795051172
SILVERBACK™ Locking Plate Screw, 5.2 x 38mm P50-553-5238 00889795051189
SILVERBACK™ Locking Plate Screw, 5.2 x 40mm P50-553-5240 00889795051196
SILVERBACK™ Locking Plate Screw, 5.2 x 42mm P50-553-5242 00889795051202
SILVERBACK™ Locking Plate Screw, 5.2 x 44mm P50-553-5244 00889795051219
SILVERBACK™ Locking Plate Screw, 5.2 x 46mm P50-553-5246 00889795051226
SILVERBACK™ Locking Plate Screw, 5.2 x 48mm P50-553-5248 00889795051233
SILVERBACK™ Locking Plate Screw, 5.2 x 50mm P50-553-5250 00889795051240
SILVERBACK™ Locking Plate Screw, 5.2 x 55mm P50-553-5255 00889795051257
SILVERBACK™ Locking Plate Screw, 5.2 x 60mm P50-553-5260 00889795051264
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 14mm P50-653-4514 00889795051271
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 16mm P50-653-4516 00889795051288
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 18mm P50-653-4518 00889795051295
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 20mm P50-653-4520 00889795051301
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 22mm P50-653-4522 00889795051318

GSBSCW-INV Rev. A




GSBSCW - Gorilla Silverback Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

SILVERBACK™ Non-Locking Plate Screw, 4.5 x 24mm P50-653-4524 00889795051325
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 26mm P50-653-4526 00889795051332
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 28mm P50-653-4528 00889795051349
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 30mm P50-653-4530 00889795051356
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 32mm P50-653-4532 00889795051363
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 34mm P50-653-4534 00889795051370
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 36mm P50-653-4536 00889795051387
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 38mm P50-653-4538 00889795051394
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 40mm P50-653-4540 00889795051400
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 42mm P50-653-4542 00889795051417
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 44mm P50-653-4544 00889795051424
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 46mm P50-653-4546 00889795051431
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 48mm P50-653-4548 00889795051448
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 50mm P50-653-4550 00889795051455
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 55mm P50-653-4555 00889795051462
SILVERBACK™ Non-Locking Plate Screw, 4.5 x 60mm P50-653-4560 00889795051479
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 14mm P50-653-5214 00889795051486
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 16mm P50-653-5216 00889795051493
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 18mm P50-653-5218 00889795051509
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 20mm P50-653-5220 00889795051516
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 22mm P50-653-5222 00889795051523
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 24mm P50-653-5224 00889795051530
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 26mm P50-653-5226 00889795051547
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 28mm P50-653-5228 00889795051554
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 30mm P50-653-5230 00889795051561
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 32mm P50-653-5232 00889795051578
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 34mm P50-653-5234 00889795051585
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 36mm P50-653-5236 00889795051592

GSBSCW-INV Rev. A




GSBSCW - Gorilla Silverback Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

SILVERBACK™ Non-Locking Plate Screw, 5.2 x 38mm P50-653-5238 00889795051608
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 40mm P50-653-5240 00889795051615
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 42mm P50-653-5242 00889795051622
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 44mm P50-653-5244 00889795051639
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 46mm P50-653-5246 00889795051646
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 48mm P50-653-5248 00889795051653
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 50mm P50-653-5250 00889795051660
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 55mm P50-653-5255 00889795051677
SILVERBACK™ Non-Locking Plate Screw, 5.2 x 60mm P50-653-5260 00889795051684
SILVERBACK™ Locking Plate Screw, 4.7 x 20mm P50-753-4720 00889795053961
SILVERBACK™ Locking Plate Screw, 4.7 x 22mm P50-753-4722 00889795053978
SILVERBACK™ Locking Plate Screw, 4.7 x 24mm P50-753-4724 00889795053985
SILVERBACK™ Locking Plate Screw, 4.7 x 26mm P50-753-4726 00889795053992
SILVERBACK™ Locking Plate Screw, 4.7 x 28mm P50-753-4728 00889795054005
SILVERBACK™ Locking Plate Screw, 4.7 x 30mm P50-753-4730 00889795054012
SILVERBACK™ Locking Plate Screw, 4.7 x 32mm P50-753-4732 00889795054029
SILVERBACK™ Locking Plate Screw, 4.7 x 34mm P50-753-4734 00889795054036
SILVERBACK™ Locking Plate Screw, 4.7 x 36mm P50-753-4736 00889795054043
SILVERBACK™ Locking Plate Screw, 4.7 x 38mm P50-753-4738 00889795054050
SILVERBACK™ Locking Plate Screw, 4.7 x 40mm P50-753-4740 00889795054067
SILVERBACK™ Non-Locking Plate Screw, 4.7 x 20mm P50-853-4720 00889795054074
SILVERBACK™ Non-Locking Plate Screw, 4.7 x 22mm P50-853-4722 00889795054081
SILVERBACK™ Non-Locking Plate Screw, 4.7 x 24mm P50-853-4724 00889795054098
SILVERBACK™ Non-Locking Plate Screw, 4.7 x 26mm P50-853-4726 00889795054104
SILVERBACK™ Non-Locking Plate Screw, 4.7 x 28mm P50-853-4728 00889795054111
SILVERBACK™ Non-Locking Plate Screw, 4.7 x 30mm P50-853-4730 00889795054128
SILVERBACK™ Non-Locking Plate Screw, 4.7 x 32mm P50-853-4732 00889795054135
SILVERBACK™ Non-Locking Plate Screw, 4.7 x 34mm P50-853-4734 00889795054142

GSBSCW-INV Rev. A




GSBSCW - Gorilla Silverback Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

SILVERBACK™Non-Locking Plate Screw, 4.7 x 36mm P50-853-4736 00889795054159
SILVERBACK™ Non-Locking Plate Screw, 4.7 x 38mm P50-853-4738 00889795054166
SILVERBACK™ Non-Locking Plate Screw, 4.7 x 40mm P50-853-4740 00889795054173
Silverback, Ankle Fusion, Screw Caddy, Base P50-900-1004-1 |00889795056191
Silverback, Ankle Fusion, Screw Caddy, Lid P50-900-1004-2 |00889795056207

GSBSCW-INV Rev. A




Inventory Control Sheet - Gorilla, TUFFNECK Screw Caddy

Patient Name:

P8

Paragon 28, Inc.
Orders@Paragon28.com

Date: (855) 786-2828
S a— sarcode &
TUFENEK® Locking Plate Srew, 2.7 x 08mm pso.0s32708  [onssossooooc> | IIINIATIINIE
TUFFNEK® Locking Plate crew, 2.7 x 09mm pso.0s32709  [onssoosoooors | ININIATINIETE
TUFFNEK® Locking Plate Screw, 2.7 x 10mm pso.0s32710  [oossossoooozs | INNINTITINE
TUFFNEK® Locking late Srew, 2.7 x 11mm pso0s3z71  foossoosooooss | INNINIINIIAE
TUFENEK® Locking Plate Srew, 2.7 x 12mm pso0s32712  fonssozosooooao | ININIINITANE
TUFFNEK® Locking Plate Screw, 2.7 x 13mm pso.0s32713  [onssoosoooos7 | IV
TUFFNEK® Locking late Screw, 2.7 x 14mm pso.0s3271a  [oossorosooooes | INNIINIIIIN
TUFFNEK® Locking Plate Srew, 2.7 x 15mm pso0s3271s  fonssossoooors | I
TUFENEK® Locking Plate Srew, 2.7 x 16mm pso.0s32716  [onssoosooooss | IININTIININE
TUFFNEK® Locking Plate Screw, 2.7 x 17mm pso.0s32717  [onssoosooooss | INNINIIEITE
TUFFNEK® Locking Plate Srew, 2.7 x 18mm pso0s3271s  foossorssoootor | ININIATINNINE
TUFFNEK® Locking Plate Srew, 2.7 x 19mm pso0s3z71s  foossossooorss | INNINTIIINI
TUFENEK® Locking Plate Srew, 2.7 x 20mm pso0s32720  [oossossoootzs | NI
TUFFNEK® Locking Plate crew, 2.7 x 22mm pso0s32722 [oossorosooors> | [N
TUFFNEK® Locking Plate Screw, 2.7 x 24mm pso.0s32724  [oossossoootas | INNINTIININE
TUFFNEK® Locking Plate Srew, 2.7 x 26mm pso0s32726  fonssossooorss | I
TUFENEK® Locking Plate Srew, 2.7 x 28mm pso0s32728  fonssoosoootes | INNNNIINANE
TUFFNEK® Locking Plate crew, 2.7 x 30mm pso.0s32730  fonssorosoooro | IIININTIHINI
TUFFNEK® Locking Plate Screw, 2.7 x 32mm pso0s32732  [oossorssooots7 | INNINTIININE
TUFFNEK® Locking late Screw, 2.7 x 34mm pso0s3z73a  fonssoosoootoa | IIINIATINHITH
TUFENEK® Locking Plate Srew, 2.7 x 36mm pso.0s32735  fonssoosooocoo | I
TUFFNEK® Locking Plate crew, 2.7 x 38mm pso0s3273s  [oossorosoooat7 | I
TUFFNEK® Locking Plate Screw, 2.7 x 40mm pso.0s32740  [oossorosooozza | INNINTIIINNE
TUFFNEK® Locking Plate Srew, 3.5 x 10mm pso0s3as10  fonssoosooozas | I
TUFFNEK® Locking Plate Srew, 3.5 x 12mm psoos3asi2  fonssozosooooss | IININTINNIH
TUFFNEK® Locking Plate crew, 3.5 x 14mm pso.0s3asta  [oosaozasoooze> | IINNIANNE
TUFFNEK® Locking Plate Srew, 3.5 x 16mm pso0s3aste  [oossorosooozzo | NN
TUFFNEK® Locking Plate Srew, 3.5 x 18mm psoos3asis  fonssoosoooass | IINNINTIIHINE
TUFENEK® Locking Plate Srew, 3.5 x 20mm pso.0s33s20  fonssoosooocos | INNINTIINHITE

GSCW-INV Rev. A



GSCW, Gorilla TUFFNECK Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

TUFFNEK® Locking Plate Screw, 3.5 x 22mm P50-053-3522 00889795000309
TUFFNEK® Locking Plate Screw, 3.5 x 24mm P50-053-3524 00889795000316
TUFFNEK® Locking Plate Screw, 3.5 x 26mm P50-053-3526 00889795000323
TUFFNEK® Locking Plate Screw, 3.5 x 28mm P50-053-3528 00889795000330
TUFFNEK® Locking Plate Screw, 3.5 x 30mm P50-053-3530 00889795000347
TUFFNEK® Locking Plate Screw, 3.5 x 32mm P50-053-3532 00889795000354
TUFFNEK® Locking Plate Screw, 3.5 x 34mm P50-053-3534 00889795000361
TUFFNEK® Locking Plate Screw, 3.5 x 36mm P50-053-3536 00889795000378
TUFFNEK® Locking Plate Screw, 3.5 x 38mm P50-053-3538 00889795000385
TUFFNEK® Locking Plate Screw, 3.5 x 40mm P50-053-3540 00889795000392
TUFFNEK® Locking Plate Screw, 3.5 x 42mm P50-053-3542 00889795000408
TUFFNEK® Locking Plate Screw, 3.5 x 44mm P50-053-3544 00889795000415
TUFFNEK® Locking Plate Screw, 3.5 x 46mm P50-053-3546 00889795000422
TUFFNEK® Locking Plate Screw, 3.5 x 48mm P50-053-3548 00889795000439
TUFFNEK® Locking Plate Screw, 3.5 x 50mm P50-053-3550 00889795000446
TUFFNEK® Locking Plate Screw, 4.2 x 10mm P50-053-4210 00889795000576
TUFFNEK® Locking Plate Screw, 4.2 x 12mm P50-053-4212 00889795000583
TUFFNEK® Locking Plate Screw, 4.2 x 14mm P50-053-4214 00889795000590
TUFFNEK® Locking Plate Screw, 4.2 x 16mm P50-053-4216 00889795000606
TUFFNEK® Locking Plate Screw, 4.2 x 18mm P50-053-4218 00889795000613
TUFFNEK® Locking Plate Screw, 4.2 x 20mm P50-053-4220 00889795000620
TUFFNEK® Locking Plate Screw, 4.2 x 22mm P50-053-4222 00889795000637
TUFFNEK® Locking Plate Screw, 4.2 x 24mm P50-053-4224 00889795000644
TUFFNEK® Locking Plate Screw, 4.2 x 26mm P50-053-4226 00889795000651
TUFFNEK® Locking Plate Screw, 4.2 x 28mm P50-053-4228 00889795000668
TUFFNEK® Locking Plate Screw, 4.2 x 30mm P50-053-4230 00889795000675
TUFFNEK® Locking Plate Screw, 4.2 x 32mm P50-053-4232 00889795000682
TUFFNEK® Locking Plate Screw, 4.2 x 34mm P50-053-4234 00889795000699
TUFFNEK® Locking Plate Screw, 4.2 x 36mm P50-053-4236 00889795000705
TUFFNEK® Locking Plate Screw, 4.2 x 38mm P50-053-4238 00889795000712
TUFFNEK® Locking Plate Screw, 4.2 x 40mm P50-053-4240 00889795000729
TUFFNEK® Locking Plate Screw, 4.2 x 42mm P50-053-4242 00889795000736

GSCW-INV Rev. A




GSCW, Gorilla TUFFNECK Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

TUFFNEK® Locking Plate Screw, 4.2 x 44mm P50-053-4244 00889795000743
TUFFNEK® Locking Plate Screw, 4.2 x 46mm P50-053-4246 00889795000750
TUFFNEK® Locking Plate Screw, 4.2 x 48mm P50-053-4248 00889795000767
TUFFNEK® Locking Plate Screw, 4.2 x 50mm P50-053-4250 00889795000774
TUFFNEK® Locking Plate Screw, 4.2 x 55mm P50-053-4255 00889795000804
TUFFNEK® Locking Plate Screw, 4.2 x 60mm P50-053-4260 00889795000835
TUFFNEK® Locking Plate Screw, 4.2 x 65mm P50-053-4265 00889795000866
TUFFNEK® Locking Plate Screw, 4.2 x 70mm P50-053-4270 00889795000897
TUFFNEK® Non-Locking Plate Screw, 2.7 x 08mm P50-153-2708 00889795010612
TUFFNEK® Non-Locking Plate Screw, 2.7 x 09mm P50-153-2709 00889795010629
TUFFNEK® Non-Locking Plate Screw, 2.7 x 10mm P50-153-2710 00889795010636
TUFFNEK® Non-Locking Plate Screw, 2.7 x 11mm P50-153-2711 00889795010643
TUFFNEK® Non-Locking Plate Screw, 2.7 x 12mm P50-153-2712 00889795010650
TUFFNEK® Non-Locking Plate Screw, 2.7 x 13mm P50-153-2713 00889795010667
TUFFNEK® Non-Locking Plate Screw, 2.7 x 14mm P50-153-2714 00889795010674
TUFFNEK® Non-Locking Plate Screw, 2.7 x 15mm P50-153-2715 00889795010681
TUFFNEK® Non-Locking Plate Screw, 2.7 x 16mm P50-153-2716 00889795010698
TUFFNEK® Non-Locking Plate Screw, 2.7 x 17mm P50-153-2717 00889795010704
TUFFNEK® Non-Locking Plate Screw, 2.7 x 18mm P50-153-2718 00889795010711
TUFFNEK® Non-Locking Plate Screw, 2.7 x 19mm P50-153-2719 00889795010728
TUFFNEK® Non-Locking Plate Screw, 2.7 x 20mm P50-153-2720 00889795010735
TUFFNEK® Non-Locking Plate Screw, 2.7 x 22mm P50-153-2722 00889795010759
TUFFNEK® Non-Locking Plate Screw, 2.7 x 24mm P50-153-2724 00889795010773
TUFFNEK® Non-Locking Plate Screw, 2.7 x 26mm P50-153-2726 00889795010797
TUFFNEK® Non-Locking Plate Screw, 2.7 x 28mm P50-153-2728 00889795010810
TUFFNEK® Non-Locking Plate Screw, 2.7 x 30mm P50-153-2730 00889795010834
TUFFNEK® Non-Locking Plate Screw, 2.7 x 32mm P50-153-2732 00889795010858
TUFFNEK® Non-Locking Plate Screw, 2.7 x 34mm P50-153-2734 00889795010872
TUFFNEK® Non-Locking Plate Screw, 2.7 x 36mm P50-153-2736 00889795010896
TUFFNEK® Non-Locking Plate Screw, 2.7 x 38mm P50-153-2738 00889795010919
TUFFNEK® Non-Locking Plate Screw, 2.7 x 40mm P50-153-2740 00889795010933
TUFFNEK® Non-Locking Plate Screw, 3.5 x 10mm P50-153-3510 00889795010957

GSCW-INV Rev. A




GSCW, Gorilla TUFFNECK Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

TUFFNEK® Non-Locking Plate Screw, 3.5 x 12mm P50-153-3512 00889795010964
TUFFNEK® Non-Locking Plate Screw, 3.5 x 14mm P50-153-3514 00889795010971
TUFFNEK® Non-Locking Plate Screw, 3.5 x 16mm P50-153-3516 00889795010988
TUFFNEK® Non-Locking Plate Screw, 3.5 x 18mm P50-153-3518 00889795010995
TUFFNEK® Non-Locking Plate Screw, 3.5 x 20mm P50-153-3520 00889795011008
TUFFNEK® Non-Locking Plate Screw, 3.5 x 22mm P50-153-3522 00889795011015
TUFFNEK® Non-Locking Plate Screw, 3.5 x 24mm P50-153-3524 00889795011022
TUFFNEK® Non-Locking Plate Screw, 3.5 x 26mm P50-153-3526 00889795011039
TUFFNEK® Non-Locking Plate Screw, 3.5 x 28mm P50-153-3528 00889795011046
TUFFNEK® Non-Locking Plate Screw, 3.5 x 30mm P50-153-3530 00889795011053
TUFFNEK® Non-Locking Plate Screw, 3.5 x 32mm P50-153-3532 00889795011060
TUFFNEK® Non-Locking Plate Screw, 3.5 x 34mm P50-153-3534 00889795011077
TUFFNEK® Non-Locking Plate Screw, 3.5 x 36mm P50-153-3536 00889795011084
TUFFNEK® Non-Locking Plate Screw, 3.5 x 38mm P50-153-3538 00889795011091
TUFFNEK® Non-Locking Plate Screw, 3.5 x 40mm P50-153-3540 00889795011107
TUFFNEK® Non-Locking Plate Screw, 3.5 x 42mm P50-153-3542 00889795011114
TUFFNEK® Non-Locking Plate Screw, 3.5 x 44mm P50-153-3544 00889795011121
TUFFNEK® Non-Locking Plate Screw, 3.5 x 46mm P50-153-3546 00889795011138
TUFFNEK® Non-Locking Plate Screw, 3.5 x 48mm P50-153-3548 00889795011145
TUFFNEK® Non-Locking Plate Screw, 3.5 x 50mm P50-153-3550 00889795011152
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 10mm P50-153-4210 00889795011282
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 12mm P50-153-4212 00889795011299
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 14mm P50-153-4214 00889795011305
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 16mm P50-153-4216 00889795011312
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 18mm P50-153-4218 00889795011329
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 20mm P50-153-4220 00889795011336
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 22mm P50-153-4222 00889795011343
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 24mm P50-153-4224 00889795011350
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 26mm P50-153-4226 00889795011367
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 28mm P50-153-4228 00889795011374
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 30mm P50-153-4230 00889795011381
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 32mm P50-153-4232 00889795011398

GSCW-INV Rev. A




GSCW, Gorilla TUFFNECK Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 34mm P50-153-4234 00889795011404
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 36mm P50-153-4236 00889795011411
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 38mm P50-153-4238 00889795011428
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 40mm P50-153-4240 00889795011435
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 42mm P50-153-4242 00889795011442
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 44mm P50-153-4244 00889795011459
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 46mm P50-153-4246 00889795011466
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 48mm P50-153-4248 00889795011473
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 50mm P50-153-4250 00889795011480
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 55mm P50-153-4255 00889795011510
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 60mm P50-153-4260 00889795011541
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 65mm P50-153-4265 00889795011572
TUFFNEK® Non-Locking Plate Screw, LP, 4.2 x 70mm P50-153-4270 00889795011602
Screw Flat/Dome Washer, 2.7, 3.5 & 4.2mm P50-153-WS00 00889795001122
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 10mm P50-253-4210 00889795012180
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 12mm P50-253-4212 00889795012197
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 14mm P50-253-4214 00889795012203
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 16mm P50-253-4216 00889795012210
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 18mm P50-253-4218 00889795012227
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 20mm P50-253-4220 00889795012234
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 22mm P50-253-4222 00889795012241
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 24mm P50-253-4224 00889795012258
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 26mm P50-253-4226 00889795012265
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 28mm P50-253-4228 00889795012272
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 30mm P50-253-4230 00889795012289
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 32mm P50-253-4232 00889795012296
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 34mm P50-253-4234 00889795012302
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 36mm P50-253-4236 00889795012319
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 38mm P50-253-4238 00889795012326
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 40mm P50-253-4240 00889795012333
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 42mm P50-253-4242 00889795012340
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 44mm P50-253-4244 00889795012357

GSCW-INV Rev. A




GSCW, Gorilla TUFFNECK Screw Caddy

Bar Code

Lot #

Qty

Description Reference GTIN

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 46mm P50-253-4246 00889795012364
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 48mm P50-253-4248 00889795012371
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 50mm P50-253-4250 00889795012388
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 55mm P50-253-4255 00889795012418
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 60mm P50-253-4260 00889795012449
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 65mm P50-253-4265 00889795012470
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 70mm P50-253-4270 00889795012500
GORILLA® Screw Caddy (Full Module) P50-900-0005 00889795017413

GSCW-INV Rev. A




Patient Name:

Inventory Control Sheet - Gorilla, Screw Caddy

8

Paragon 28, Inc.
Orders@Paragon28.com

Date: (855) 786-2828
T
Screw Fat/Dome Washer, 27,35 & 42mm  |pso-1s3-wsoo |oossozasootaz2 | (NN
R3CON"™ Locking Plate Srew, 2.7 x smim ps0-353-2708 |ooassrosorsaio| MK
RSCON"™ Locking Plate Srew, 2.7 x mm ps0-353:2709  |ooassresorss7 | IIIMHIIIIIN
R3CON"™ Locking Plate Srew, 2.7 x 10mm ps0-353.2710  |ooassrosorsase| NN
R3CON"™ Locking Plate Screw, 2.7 x 11mm pso-3s3:2711  |oosssresorsaat | NI
R3CON™ Locking late Srew, 2.7 x 12mm ps0-353.2712  |ooassrosorsass| IIIIMHIHIIIN
RSCON"™ Locking late Screw, 2.7 x 13mm ps0-353:2713  |ooassresossass | IIIHIINIIN
R3CON™ Locking late Srew, 2.7 x 14mm pso-3s3.2714  |ooassrosorsaz2 | NI
RSCON"™ Locking Plate Screw, 2.7 x 15mm ps0-353:2715  |ooassresorsass | I
R3CON™ Locking late Screw, 2.7 x 16mm ps0-353:2716  |ooassrssorsaos| ININNIIINN
RSCON"™ Locking Plate Screw, 2.7x 17mm ps0-353:2717  |ooassresorsaoz | IIIMHIIIININ
R3CON™ Locking late Srew, 2.7 x 18mm ps0-353.2718  |ooassrosorsass | MK
R3CON"™ Locking Plate Screw, 2.7 x 19mm ps0-353:2719  |ooasarssonsazs | IIINTIINNII
R3CON™ Locking Plate Srew, 2.7 x 20mm ps0-353.2720 |ooassrosorsass | IIIMHIHINI
R3CON"™ Locking Plate Screw, 2.7 x 22mm ps0-353:2722  |ooassrssorsado | IIIIMHIIIIIIN
R3CON™ Locking late Srew, 2.7 x 24mm pso-353.2724  |ooassrosorses7 | NI
RSCON"™ Locking Plate Srew, 2.7 x 26mm ps0-353:2726  |ooassrssorsase | ININHIIIITNN
R3CON™ Locking late Srew, 2.7 x 28mm pso-353.2728  |ooassrosorset | I
RSCON"™ Locking Plate Srew, 2.7 x 30mm ps0-353:2730  |ooassresorsass| ININHIITNN
R3CON™ Locking late Srew, 2.7 x 32mm ps0-353-2732  |ooassrosorsaos | NN
RSCON"™ Locking Plate Screw, 2.7 x 34mm ps0-353:2734  |ooassrssorssot | NN
R3CON™ Locking late Srew, 2.7 x 36mm ps0-353.2736  |ooassrosorsss| NN

GSCWR-INV Rev. A



GSCWR, Gorilla Screw Caddy

8

RSCON"™ Locking Plate Screw, 2.7 x 38mm ps0-353:2738  |ooassresorssas | NN
R3CON™ Locking Plate Srew, 2.7 x 40mm ps0-353.2740  |ooassrosorss2 | I
RSCON"™ Locking Plate Screw, 3.5 x 10mm ps0-353:3510  |ooassrssotsase| I
R3CON™ Locking late Srew, 3.5 x 12mm pso-353.3512  |ooassrosossast | NI
RSCON"™ Locking Plate Screw, 3.5 x 14mm pso-3s3:3514. |ooassrosotsas| ININHINIIIN
R3CON™ Locking Plate Screw, 3.5 x 16mm pso-353.3516  |ooassrosorsass | INIIIHIIIHIN
RSCON"™ Locking late Screw, 3.5 x 18mm ps0-353:3515  |ooassrssorsao | I
R3CON™ Locking Plate Srew, 3.5 x 20mm ps0.353.3520  |ooassrososssos | IIIMHHLILI
RSCON"™ Locking late Screw, 3.5 x 22mm ps0-353:3522  |ooassrssosssas | [N
R3CON™ Locking late Srew, 3.5 x 24mm ps0.353.3500  |ooassrosorssa2 | IIIHHHLIIIN
RSCON"™ Locking Plate Screw, 3.5 x 26mm ps0-353:3526 |ooassrssotssso | INIMHHIAI
R3CON™ Locking late Srew, 3.5 x 28mm ps0-353:3528 |ooassrssotssas| (NN
RSCON"™ Locking late Srew, 3.5 x 30mm ps0-353:3530  |ooassrssotssss| ININHIIHNI
R3CON™ Locking Plate Srew, 3.5 x 32mm pso-3s3:3532 |ooassrssotsseo| NN
R3CON™ Locking late Srew, 3.5 x 34mm pso-353:3534  |ooassresorss77 | IIHNITHINN
RSCON™ Locking late Screw, 3.5 x 36mm pso-353:3536  [oosaozosoresas | NI
R3CON™ Locking late Screw, 3.5 x 38mm ps0-353:3538  |ooassresorssor | IIHITHNIN
RSCON"™ Locking Plate Srew, 3.5 x 40mm pso-353:3540  [oosaozosoreeor | IIIIHINIIIIN
R3CON™ Locking Plate Screw, 3.5 x 42mm ps0-353:3542  |ooassresorsess | NI
RSCON"™ Locking late Srew, 3.5 x 44mm pso-353:35aa  foosaozosonee21 | IIINHIHIIIN
R3CON™ Locking late Screw, 3.5 x 46mm ps0-353.3546  |ooassresorsess| NI
RSCON"™ Locking Plate Screw, 3.5 x 48mm pso-353:354s [oosaozosoesas | IIIHINIININN
R3CON™ Locking Plate Srew, 3.5 x Somm ps0-353.3550  |ooassresorses2 | I
R3CON"™ Locking late Srew, 4.2 x 10mm pso-3s3.210  [oosaozosoeses | NN
R3CON™ Locking late Srew, 4.2 x 12mm pso-3s3.4212  |oosssresorsezs | IIIHIHTIN

GSCWR-INV Rev. A



GSCWR, Gorilla Screw Caddy

8

R3CON™ Locking late Srew, 4.2 x 14mm pso3s3.a214. |oosssrosorsess | NN
RSCON"™ Locking late Screw, 4.2 x 16mm pso-353.4216 [oosaozosoesso | IIINHINIHMIN
R3CON™ Locking Plate Screw, 4.2 x 18mm ps0-353.4215  |ooassresorszos | IIIMHIINNI
RSCON"™ Locking Plate Srew, 4.2 20mm pso-353.4220 [oosaozosore13 | NN
R3CON"™ Locking late Srew, 4.2 22mm ps0.353.4222  |oosssresotszo | IIIHHIIIHIN
RSCON"™ Locking late Srew, 4.2 x 24mm pso-353.4224  [oosaozosores7 | IIININHI NN
R3CON™ Locking late Screw, 4.2 x 26mm ps0-353.4226  |ooassrosorszaa | IIIMHITIIN
RSCON"™ Locking late Screw, 4.2 x 28mm pso-353.4225 [oossozosores1 | NI NI
R3CON™ Locking late Srew, 4.2 30mm pso-3s3.4230  |oosssrssonszes | NN
RSCON"™ Locking Plate Screw, 4.2 x 32mm ps0-353.423  [oosaozosorezs | IIININHIAIINN
R3CON™ Locking late Srew, 4.2 x 34mm pso3s3.4234  |oosssresorezs | MMM
RSCON"™ Locking Pate Screw, 4.2 36mm ps0.353.4236  |ooassrosorszoo | IIINHIIININ
R3CON™ Locking late Srew, 4.2 x 38mm ps0-353.4235  |ooassresorsaos | I
R3CON"™ Locking Pate Screw, 4.2 x 40mm pso-3s3.4240 |ooasorssonsa12 | NI
R3CON™ Locking late Srew, 4.2 x 42mm ps0-353.4242  |oosssresorsazs | NI
RSCON"™ Locking late Srew, 4.2 x 44mm pso-353.4244  [oosaozosoress | NI
R3CON™ Locking late Srew, 4.2 x 46mm ps0-353.4246  |oosssrosorsaas | NI
RSCON"™ Locking Plate Screw, 4.2 x 48mm pso-353.424s [oosaozosoesso | IIININHIINIIN
R3CON™ Locking late Srew, 4.2 x Somm ps0-353.4250  |ooassrosorsas? | IIHHINININ
RSCON"™ Locking late Screw, 4.2 x S5mm pso-353.4255[oosaozosoresza | IIININHIIIN
R3CON™ Locking Plate Srew, 4.2 x 60mm pso-3s3.4260  |ooassrosorcast | NI
RSCON"™ Locking late Srew, 4.2 x 65mm pso-353.4265[oosaozososess | IIININHINININ
R3CON"™ Locking late Srew, 4.2 x 70mm ps0-353.4270 |ooassresotsoos | IIMHIHIIINI
R3CON"™ Non-Locking late Screw, 27 x8mm  [pso-as3-270 [oossszosossas | IIIININITHY
R3CON"™ Non-Locking Plte Screw, 27 xomm  [pso-as3-2709  [oossa7ssonssss | IIIITIIINNHINN

GSCWR-INV Rev. A



GSCWR, Gorilla Screw Caddy

8

R3CON"™ Non-Locking Plte Screw, 27 x omm  [pso-as3-2710. [oossa7ssonsss3 | (NN
R3CON"™ Non-Locking late Screw, 27 x 11mm  [pso-as3-2711  [oossszososszo | (NI
R3CON"™ Non-Locking Plte Screw, 27 x 12mm  [pso-as3-2712  [oossarssonsss7 | (NI
R3CON"™ Non-Locking late Screw, 27 x 13mm  [pso-as3-2713[oosaszosossea | [N
R3CON"™ Non-Locking Plte Screw, 27 x 1emm  [pso-as3-2714 [oossa7asonseoo | IIIINIIIINII
R3CON"™ Non-Locking late Screw, 27 x 15mm  [pso-asa2715.~[oosaozosoase17 | IIIINHIHIHIIIN
R3CON"™ Non-Locking Plte Screw, 27 x 1emm  [pso-as3-2716  [oossaasonse2a | (NI
R3CON"™ Non-Locking late Screw, 27 x 17mm  [pso-asa-2717 foosaozosoasest | IIINHIHIII
R3CON"™ Non-Locking Plte Screw, 27 x 1amm  [pso-as3-271s  [oosso7osonseas | [N
R3CON"™ Non-Locking late Screw, 27 x 19mm  [pso-as3-2710 [oosaszososess | (NI
R3CON"™ Non-Locking Plte Screw, 27 x20mm  [pso-as3-2720. [oossarasonses2| I
R3CON™ Non-Locking Plte Screw, 27 x22mm  [pso-as3.2722  [oossaasonsezo | IINIIINNII
R3CON"™ Non-Locking Plte Screw, 27 x2mm  [pso-as3-2724 [oossa7asonsess | IIIITIIIILANIE
R3CON™ Non-Locking Plte Screw, 27 x26mm  [pso-as3.2726  [oossaasoas71s| IV
R3CON"™ Non-Locking Plte Screw, 27 x28mm  [pso-as3-272s  [oossa7ssons7so | [N
R3CON"™ Non-Locking late Screw, 27 x30mm  [pso-as3-2730  [oossszosons7sa | I
R3CON"™ Non-Locking Plte Screw, 27 x32mm  [pso-as3-2732  [oossarosons77s | IIINIINIHIN
R3CON"™ Non-Locking late Screw, 2.7 x3amm  [pso-as3-2734 [oossozososzs2 | [N
R3CON"™ Non-Locking Plte Screw, 27 x36mm  [pso-as3-2736  [oossaresonsss | IIIITIIININII
R3CON"™ Non-Locking late Screw, 27 x38mm  [pso-as3-273s[oosaozosossso | I
R3CON"™ Non-Locking Plte Screw, 2.7 xdomm  [pso-as3-27a0 [oossa7osonsss3 | I[NNI
R3CON"™ Non-Locking late Screw, 35 x 1omm  [pso-as33s10. [oosaszososeort | (NI
R3CON"™ Non-Locking Plte Screw, 35 x 12mm  [pso-as3-3s12. [oossa7osonse2s | [T
R3CON"™ Non-Locking late Screw, 35 x 1amm  [pso-as3-3sia[oossozososeoss | (NI
R3CON"™ Non-Locking Plte Screw, 35 x 1emm  [pso-as3 3516 [oossaosonsoe2 | [IIITHIINNIN

GSCWR-INV Rev. A



GSCWR, Gorilla Screw Caddy

8

Bar Code

Lot #

Qty

Description Reference GTIN

R3CON™ Non-Locking Plate Screw, 3.5 x 18mm P50-453-3518 (00889795016959
R3CON™ Non-Locking Plate Screw, 3.5 x 20mm P50-453-3520 [00889795016966
R3CON™ Non-Locking Plate Screw, 3.5 x 22mm P50-453-3522 |00889795016973
R3CON™ Non-Locking Plate Screw, 3.5 x 24mm P50-453-3524 (00889795016980
R3CON™ Non-Locking Plate Screw, 3.5 x 26mm P50-453-3526 (00889795016997
R3CON™ Non-Locking Plate Screw, 3.5 x 28mm P50-453-3528 (00889795017000
R3CON™ Non-Locking Plate Screw, 3.5 x 30mm P50-453-3530 (00889795017017
R3CON™ Non-Locking Plate Screw, 3.5 x 32mm P50-453-3532 [00889795017024
R3CON™ Non-Locking Plate Screw, 3.5 x 34mm P50-453-3534 (00889795017031
R3CON™ Non-Locking Plate Screw, 3.5 x 36mm P50-453-3536 [00889795017048
R3CON™ Non-Locking Plate Screw, 3.5 x 38mm P50-453-3538 |00889795017055
R3CON™ Non-Locking Plate Screw, 3.5 x 40mm P50-453-3540 (00889795017062
R3CON™ Non-Locking Plate Screw, 3.5 x 42mm P50-453-3542 (00889795017079
R3CON™ Non-Locking Plate Screw, 3.5 x 44mm P50-453-3544 (00889795017086
R3CON™ Non-Locking Plate Screw, 3.5 x 46mm P50-453-3546 |00889795017093
R3CON™ Non-Locking Plate Screw, 3.5 x 48mm P50-453-3548 (00889795017109
R3CON™ Non-Locking Plate Screw, 3.5 x 50mm P50-453-3550 (00889795017116
R3CON™ Non-Locking Plate Screw, 4.2 x 10mm P50-453-4210 |00889795017123
R3CON™ Non-Locking Plate Screw, 4.2 x 12mm P50-453-4212 (00889795017130
R3CON™ Non-Locking Plate Screw, 4.2 x 14mm P50-453-4214 |00889795017147
R3CON™ Non-Locking Plate Screw, 4.2 x 16mm P50-453-4216 (00889795017154
R3CON™ Non-Locking Plate Screw, 4.2 x 18mm P50-453-4218 (00889795017161
R3CON™ Non-Locking Plate Screw, 4.2 x 20mm P50-453-4220 (00889795017178
R3CON™ Non-Locking Plate Screw, 4.2 x 22mm P50-453-4222 |00889795017185
R3CON™ Non-Locking Plate Screw, 4.2 x 24mm P50-453-4224 (00889795017192

GSCWR-INV Rev. A



GSCWR, Gorilla Screw Caddy

8

Bar Code

Lot #

Qty

Description Reference GTIN

R3CON™ Non-Locking Plate Screw, 4.2 x 26mm P50-453-4226 (00889795017208
R3CON™ Non-Locking Plate Screw, 4.2 x 28mm P50-453-4228 |00889795017215
R3CON™ Non-Locking Plate Screw, 4.2 x 30mm P50-453-4230 (00889795017222
R3CON™ Non-Locking Plate Screw, 4.2 x 32mm P50-453-4232 (00889795017239
R3CON™ Non-Locking Plate Screw, 4.2 x 34mm P50-453-4234 (00889795017246
R3CON™ Non-Locking Plate Screw, 4.2 x 36mm P50-453-4236 |00889795017253
R3CON™ Non-Locking Plate Screw, 4.2 x 38mm P50-453-4238 (00889795017260
R3CON™ Non-Locking Plate Screw, 4.2 x 40mm P50-453-4240 (00889795017277
R3CON™ Non-Locking Plate Screw, 4.2 x 42mm P50-453-4242 (00889795017284
R3CON™ Non-Locking Plate Screw, 4.2 x 44mm P50-453-4244 (00889795017291
R3CON™ Non-Locking Plate Screw, 4.2 x 46mm P50-453-4246 (00889795017307
R3CON™ Non-Locking Plate Screw, 4.2 x 48mm P50-453-4248 [00889795017314
R3CON™ Non-Locking Plate Screw, 4.2 x 50mm P50-453-4250 (00889795017321
R3CON™ Non-Locking Plate Screw, 4.2 x 55mm P50-453-4255 [00889795017338
R3CON™ Non-Locking Plate Screw, 4.2 x 60mm P50-453-4260 |00889795017345
R3CON™ Non-Locking Plate Screw, 4.2 x 65mm P50-453-4265 [00889795017352
R3CON™ Non-Locking Plate Screw, 4.2 x 70mm P50-453-4270 (00889795017369

GSCWR-INV Rev. A



Inventory Control Sheet - Gorilla, Transition Screw Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com
Date: (855) 786-2828
GSCWT, Gorilla, Transition Screw Caddy

Description Reference GTIN Barcode Lot # Qty
TUFFNEK® Locking Plate Screw, 3.5 x 10mm P50-053-3510 |00889795000248 ||I|||I||I“ |I‘ """Ill" "|||
TUFFNEK® Locking Plate Screw, 3.5 x 12mm P50-053-3512 |00889795000255 ||I|||I||I“ |I‘ """I‘ "H""
TUFFNEK® Locking Plate Screw, 3.5 x 14mm P50-053-3514 |00889795000262 ||||||IHI|HI||""|I ||I||| I||
TUFFNEK® Locking Plate Screw, 3.5 x 16mm P50-053-3516 |00889795000279 """IHI"‘I“"""I“ ||||||
TUFFNEK® Locking Plate Screw, 3.5 x 18mm P50-053-3518 |00889795000286 """IHI"‘I“""'I”ll"I||
TUFFNEK® Locking Plate Screw, 3.5 x 20mm P50-053-3520 |00889795000293 """I"I"|I|||""”I“ |||||
TUFFNEK® Locking Plate Screw, 3.5 x 22mm P50-053-3522 |00889795000309 """IHI"'I“"H'|H””I"
TUFFNEK® Locking Plate Screw, 3.5 x 24mm P50-053-3524 |00889795000316 """IHI"'I“"H'|I"”| I"
TUFFNEK® Locking Plate Screw, 3.5 x 26mm P50-053-3526 |00889795000323 ||||||IHI|HI||""|I||||I||||
TUFFNEK® Locking Plate Screw, 3.5 x 28mm P50-053-3528 |00889795000330 H""IHI"'I“"H'"”I" I"
TUFFNEK® Locking Plate Screw, 3.5 x 30mm P50-053-3530 |00889795000347 ||||||IHI|HI||""|||||||""
TUFFNEK® Locking Plate Screw, 3.5 x 32mm P50-053-3532 |00889795000354 ||||||I||I|||I||"|||||||||||||
TUFFNEK® Locking Plate Screw, 3.5 x 34mm P50-053-3534 |00889795000361 ""“IH”HI”"H'” m |||||
TUFFNEK® Locking Plate Screw, 3.5 x 36mm P50-053-3536 |00889795000378 """IHI"'I“"H”m m I"
TUFFNEK® Locking Plate Screw, 3.5 x 38mm P50-053-3538 |00889795000385 "ll"l”lml“"”'|I‘||I| I"
TUFFNEK® Locking Plate Screw, 3.5 x 40mm P50-053-3540 |00889795000392 H""IHIMI“"H'”Im""
TUFFNEK® Locking Plate Screw, 3.5 x 42mm P50-053-3542 |00889795000408 ||I|||I||I“ ’I‘ "”““”"""
TUFFNEK® Locking Plate Screw, 3.5 x 44mm P50-053-3544 |00889795000415 ||I|||I||I“ |I‘ ||||||||"||"||
TUFFNEK® Locking Plate Screw, 3.5 x 46mm P50-053-3546 |00889795000422 ||I|||I||I“ |I‘ "”“"”Il""
TUFFNEK® Locking Plate Screw, 3.5 x 48mm P50-053-3548 |00889795000439 ||||||IHI|HI|""”"|“"l"
TUFFNEK® Locking Plate Screw, 3.5 x 50mm P50-053-3550 |00889795000446 """IHIMI”"""' |I“| I||
TUFFNEK® Locking Plate Screw, 4.2 x 10mm P50-053-4210 |00889795000576 ""“IHIMIH"”"" “ |||||
TUFFNEK® Locking Plate Screw, 4.2 x 12mm P50-053-4212 |00889795000583 """IHI"‘I“"”"I”l"l"
TUFFNEK® Locking Plate Screw, 4.2 x 14mm P50-053-4214 |00889795000590 """IHIMI”'”|||||| ‘"l"
TUFFNEK® Locking Plate Screw, 4.2 x 16mm P50-053-4216 |00889795000606 ||I|||I||I“ |I‘ "”””H"""
TUFFNEK® Locking Plate Screw, 4.2 x 18mm P50-053-4218 |00889795000613 """IHI"‘I“""”"" |||||
TUFFNEK® Locking Plate Screw, 4.2 x 20mm P50-053-4220 |00889795000620 ||I|||I||I“ |I‘ "”""ll”""

GSCWT-INV Rev. A




/8

GSCWT, Gorilla, Transition Screw Caddy

Barcode

Lot #

Qty

Description Reference GTIN

TUFFNEK® Locking Plate Screw, 4.2 x 22mm P50-053-4222 |00889795000637
TUFFNEK® Locking Plate Screw, 4.2 x 24mm P50-053-4224 |00889795000644
TUFFNEK® Locking Plate Screw, 4.2 x 26mm P50-053-4226 |[00889795000651
TUFFNEK® Locking Plate Screw, 4.2 x 28mm P50-053-4228 |00889795000668
TUFFNEK® Locking Plate Screw, 4.2 x 30mm P50-053-4230 |(00889795000675
TUFFNEK® Locking Plate Screw, 4.2 x 32mm P50-053-4232 |00889795000682
TUFFNEK® Locking Plate Screw, 4.2 x 34mm P50-053-4234 |00889795000699
TUFFNEK® Locking Plate Screw, 4.2 x 36mm P50-053-4236 |[00889795000705
TUFFNEK® Locking Plate Screw, 4.2 x 38mm P50-053-4238 |00889795000712
TUFFNEK® Locking Plate Screw, 4.2 x 40mm P50-053-4240 |00889795000729
TUFFNEK® Locking Plate Screw, 4.2 x 42mm P50-053-4242 |00889795000736
TUFFNEK® Locking Plate Screw, 4.2 x 44mm P50-053-4244 |00889795000743
TUFFNEK® Locking Plate Screw, 4.2 x 46mm P50-053-4246 |00889795000750
TUFFNEK® Locking Plate Screw, 4.2 x 48mm P50-053-4248 |00889795000767
TUFFNEK® Locking Plate Screw, 4.2 x 50mm P50-053-4250 |00889795000774
TUFFNEK® Locking Plate Screw, 4.2 x 55mm P50-053-4255 |00889795000804
TUFFNEK® Locking Plate Screw, 4.2 x 60mm P50-053-4260 |00889795000835
TUFFNEK® Locking Plate Screw, 4.2 x 65mm P50-053-4265 |00889795000866
TUFFNEK® Locking Plate Screw, 4.2 x 70mm P50-053-4270 |00889795000897
TUFFNEK® Non-Locking Plate Screw, 3.5 x 10mm P50-153-3510 |00889795010957
TUFFNEK® Non-Locking Plate Screw, 3.5 x 12mm P50-153-3512 |00889795010964
TUFFNEK® Non-Locking Plate Screw, 3.5 x 14mm P50-153-3514 |00889795010971
TUFFNEK® Non-Locking Plate Screw, 3.5 x 16mm P50-153-3516 |00889795010988
TUFFNEK® Non-Locking Plate Screw, 3.5 x 18mm P50-153-3518 |00889795010995
TUFFNEK® Non-Locking Plate Screw, 3.5 x 20mm P50-153-3520 |00889795011008
TUFFNEK® Non-Locking Plate Screw, 3.5 x 22mm P50-153-3522 |00889795011015
TUFFNEK® Non-Locking Plate Screw, 3.5 x 24mm P50-153-3524 |00889795011022
TUFFNEK® Non-Locking Plate Screw, 3.5 x 26mm P50-153-3526 |00889795011039
TUFFNEK® Non-Locking Plate Screw, 3.5 x 28mm P50-153-3528 |00889795011046
TUFFNEK® Non-Locking Plate Screw, 3.5 x 30mm P50-153-3530 |00889795011053

GSCWT-INV Rev. A



/8

GSCWT, Gorilla, Transition Screw Caddy

Description

Reference

GTIN

Barcode

TUFFNEK® Non-Locking Plate Screw, 3.5 x 32mm

P50-153-3532

00889795011060

Lot #

Qty

TUFFNEK® Non-Locking Plate Screw, 3.5 x 34mm

P50-153-3534

00889795011077

TUFFNEK® Non-Locking Plate Screw, 3.5 x 36mm

P50-153-3536

00889795011084

TUFFNEK® Non-Locking Plate Screw, 3.5 x 38mm

P50-153-3538

00889795011091

TUFFNEK® Non-Locking Plate Screw, 3.5 x 40mm

P50-153-3540

00889795011107

TUFFNEK® Non-Locking Plate Screw, 3.5 x 42mm

P50-153-3542

00889795011114

TUFFNEK® Non-Locking Plate Screw, 3.5 x 44mm

P50-153-3544

00889795011121

TUFFNEK® Non-Locking Plate Screw, 3.5 x 46mm

P50-153-3546

00889795011138

TUFFNEK® Non-Locking Plate Screw, 3.5 x 48mm

P50-153-3548

00889795011145

TUFFNEK® Non-Locking Plate Screw, 3.5 x 50mm

P50-153-3550

00889795011152

Screw Flat/Dome Washer, 2.7, 3.5 & 4.2mm

P50-153-WS00

00889795001122

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 10mm

P50-253-4210

00889795012180

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 12mm

P50-253-4212

00889795012197

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 14mm

P50-253-4214

00889795012203

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 16mm

P50-253-4216

00889795012210

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 18mm

P50-253-4218

00889795012227

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 20mm

P50-253-4220

00889795012234

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 22mm

P50-253-4222

00889795012241

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 24mm

P50-253-4224

00889795012258

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 26mm

P50-253-4226

00889795012265

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 28mm

P50-253-4228

00889795012272

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 30mm

P50-253-4230

00889795012289

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 32mm

P50-253-4232

00889795012296

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 34mm

P50-253-4234

00889795012302

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 36mm

P50-253-4236

00889795012319

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 38mm

P50-253-4238

00889795012326

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 40mm

P50-253-4240

00889795012333

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 42mm

P50-253-4242

00889795012340

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 44mm

P50-253-4244

00889795012357

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 46mm

P50-253-4246

00889795012364

GSCWT-INV Rev. A



/8

GSCWT, Gorilla, Transition Screw Caddy

Barcode

Lot #

Qty

Description Reference GTIN

TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 48mm P50-253-4248 |00889795012371
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 50mm P50-253-4250 |00889795012388
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 55mm P50-253-4255 |00889795012418
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 60mm P50-253-4260 |[00889795012449
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 65mm P50-253-4265 |00889795012470
TUFFNEK® Non-Locking Plate Screw, Compression Ramp, 4.2 x 70mm P50-253-4270 |00889795012500
R3CON™ Locking Plate Screw, 2.7 x 8mm P50-353-2708 |00889795015310
R3CON™ Locking Plate Screw, 2.7 x 9mm P50-353-2709 |00889795015327
R3CON™ Locking Plate Screw, 2.7 x 10mm P50-353-2710 |00889795015334
R3CON™ Locking Plate Screw, 2.7 x 11mm P50-353-2711 |00889795015341
R3CON™ Locking Plate Screw, 2.7 x 12mm P50-353-2712 |00889795015358
R3CON™ Locking Plate Screw, 2.7 x 13mm P50-353-2713 |00889795015365
R3CON™ Locking Plate Screw, 2.7 x 14mm P50-353-2714 |00889795015372
R3CON™ Locking Plate Screw, 2.7 x 15mm P50-353-2715 |00889795015389
R3CON™ Locking Plate Screw, 2.7 x 16mm P50-353-2716 |00889795015396
R3CON™ Locking Plate Screw, 2.7 x 17mm P50-353-2717 |00889795015402
R3CON™ Locking Plate Screw, 2.7 x 18mm P50-353-2718 |00889795015419
R3CON™ Locking Plate Screw, 2.7 x 19mm P50-353-2719 |00889795015426
R3CON™ Locking Plate Screw, 2.7 x 20mm P50-353-2720 |00889795015433
R3CON™ Locking Plate Screw, 2.7 x 22mm P50-353-2722 |00889795015440
R3CON™ Locking Plate Screw, 2.7 x 24mm P50-353-2724 |00889795015457
R3CON™ Locking Plate Screw, 2.7 x 26mm P50-353-2726 |00889795015464
R3CON™ Locking Plate Screw, 2.7 x 28mm P50-353-2728 |00889795015471
R3CON™ Locking Plate Screw, 2.7 x 30mm P50-353-2730 |00889795015488
R3CON™ Locking Plate Screw, 2.7 x 32mm P50-353-2732 |00889795015495
R3CON™ Locking Plate Screw, 2.7 x 34mm P50-353-2734 |00889795015501
R3CON™ Locking Plate Screw, 2.7 x 36mm P50-353-2736 |00889795015518
R3CON™ Locking Plate Screw, 2.7 x 38mm P50-353-2738 |00889795015525
R3CON™ Locking Plate Screw, 2.7 x 40mm P50-353-2740 |00889795015532
R3CON™ Non-Locking Plate Screw, 2.7 x 8mm P50-453-2708 |00889795015549

GSCWT-INV Rev. A



/8

GSCWT, Gorilla, Transition Screw Caddy

Barcode

Lot #

Qty

Description Reference GTIN

R3CON™ Non-Locking Plate Screw, 2.7 x 9mm P50-453-2709 |00889795015556
R3CON™ Non-Locking Plate Screw, 2.7 x 10mm P50-453-2710 |00889795015563
R3CON™ Non-Locking Plate Screw, 2.7 x 11mm P50-453-2711 |00889795015570
R3CON™ Non-Locking Plate Screw, 2.7 x 12mm P50-453-2712 |00889795015587
R3CON™ Non-Locking Plate Screw, 2.7 x 13mm P50-453-2713 |00889795015594
R3CON™ Non-Locking Plate Screw, 2.7 x 14mm P50-453-2714 |00889795015600
R3CON™ Non-Locking Plate Screw, 2.7 x 15mm P50-453-2715 |00889795015617
R3CON™ Non-Locking Plate Screw, 2.7 x 16mm P50-453-2716 |00889795015624
R3CON™ Non-Locking Plate Screw, 2.7 x 17mm P50-453-2717 |00889795015631
R3CON™ Non-Locking Plate Screw, 2.7 x 18mm P50-453-2718 |00889795015648
R3CON™ Non-Locking Plate Screw, 2.7 x 19mm P50-453-2719 |00889795015655
R3CON™ Non-Locking Plate Screw, 2.7 x 20mm P50-453-2720 |00889795015662
R3CON™ Non-Locking Plate Screw, 2.7 x 22mm P50-453-2722 |00889795015679
R3CON™ Non-Locking Plate Screw, 2.7 x 24mm P50-453-2724 |00889795015693
R3CON™ Non-Locking Plate Screw, 2.7 x 26mm P50-453-2726 |00889795015716
R3CON™ Non-Locking Plate Screw, 2.7 x 28mm P50-453-2728 |00889795015730
R3CON™ Non-Locking Plate Screw, 2.7 x 30mm P50-453-2730 |00889795015754
R3CON™ Non-Locking Plate Screw, 2.7 x 32mm P50-453-2732 |00889795015778
R3CON™ Non-Locking Plate Screw, 2.7 x 34mm P50-453-2734 |00889795015792
R3CON™ Non-Locking Plate Screw, 2.7 x 36mm P50-453-2736 |00889795015815
R3CON™ Non-Locking Plate Screw, 2.7 x 38mm P50-453-2738 |00889795015839
R3CON™ Non-Locking Plate Screw, 2.7 x 40mm P50-453-2740 |00889795015853
GORILLA® Screw Caddy (Full Module) P50-900-0005 |00889795017413

GSCWT-INV Rev. A



Inventory Control Sheet - Gorilla, Reamer Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
Seseipton B T — &
Caddy Ld (Half Modile) pso-so0-ast | ooass7ssoasao|  IIIMHIINININ

Trephine Reamer Caddy Base psosoo-seam-1 | ooasorososeass|  IINHINHIEIN

Trephine Reamer, 7 pos-1s0.0071 | ooasorosoacszs| (NN

Trephine Reamer, 19mm pos-1s0.0072 | ooassrosoaosas| (NN

Trephine Reamer, 21mm pos-150.0073 | ooassrssoacssa|  IIINHIINININ

Trephine Reamer, 23mm pos-150.0074 | ooaszosoasoos| NN

(Wi, Single Ended Trocar Tip, SMOOTH, 16 x150mm  [pos-192-1615 | ooassrasossoss|  IINIITINIAIN

GTREPH-INV Rev. A




Inventory Control Sheet - Gorilla, Universal Plate Caddy

Patient Name:

Date:

Paragon 28, Inc.
Orders@Paragon28.com
(855) 786-2828

GUNV, Gorilla Universal Plate Caddy

Description

Reference GTIN

Barcode

GORILLA® Universal Implant Caddy Base (Full Module)

P50-900-UNVC-1 |00889795017543

Lot

Qty

GORILLA® Universal Lid (For All Full Modules - Reinforced)

P50-900-UNVC-3 |00889795018045

28 Plate, 20mm, 2-Hole Compression, 1.1mm

P53-101-1012 00889795000910

28 Plate, 15mm, 2-Hole Compression, 1.5mm

P53-101-1021 00889795000934

28 Plate, 20mm, 2-Hole Compression, 1.5mm

P53-101-1022 00889795000941

28 Plate, 25mm, 2-Hole Compression, 1.5mm

P53-101-1023 00889795000958

28 Plate, 15mm, 2-Hole Locking, 1.1mm

P53-101-2011 00889795000965

28 Plate, 20mm, 2-Hole Locking, 1.1mm

P53-101-2012 00889795000972

28 Plate, 25mm, 2-Hole Locking, 1.1mm

P53-101-2013 00889795000989

28 Plate, 15mm, 2-Hole Locking, 1.5mm

P53-101-2021 00889795000996

28 Plate, 20mm, 2-Hole Locking, 1.5mm

P53-101-2022 00889795001009

28 Plate, 25mm, 2-Hole Locking, 1.5mm

P53-101-2023 00889795001016

28 Plate, 25mm, 3-Hole Compression, 1.1mm

P53-101-3011 00889795001023

28 Plate, 30mm, 3-Hole Compression, 1.1mm

P53-101-3012 00889795001030

28 Plate, 25mm, 3-Hole Compression, 1.5mm

P53-101-3021 00889795001054

28 Plate, 30mm, 3-Hole Compression, 1.5mm

P53-101-3022 00889795001061

28 Plate, 35mm, 3-Hole Compression, 1.5mm

P53-101-3023 00889795001078

28 Plate, 4-Hole Straight, Compression, 1.5mm

P53-101-4021 00889795001092

28 Plate, 4-Hole Straight, Locking, 1.5mm

P53-101-4121 00889795009197

28 Plate, 5-Hole Straight, Compression, 1.5mm

P53-101-5021 00889795001115

HEvans® Plate, Small, Left, 16mm

P53-105-L001 00889795009678

HEvans® Plate, Medium, Left, 20mm

P53-105-L002 00889795009685

HEvans® Plate, Long, Left, 24mm

P53-105-L003 00889795009692

HEvans® Plate, Small, Right, 16mm

P53-105-R001 00889795009708

HEvans® Plate, Medium, Right, 20mm

P53-105-R002 00889795009715

HEvans® Plate, Long, Right, 24mm

P53-105-R003 00889795009722

GUNV-INV Rev. A




GUNV, Gorilla Universal Plate Caddy

Barcode

Lot

Qty

Description Reference GTIN

Dogbone™ Plate, 10mm P53-151-0001 00889795010209
Dogbone™ Plate, 15mm P53-151-0002 00889795010216
Dogbone™ Plate, Compression, 20mm P53-151-0003 00889795010223
Dogbone™ Plate, Compression, 25mm P53-151-0004 00889795010230
Dogbone™ Plate, Compression, 30mm P53-151-0005 00889795010247
Dogbone™ Plate, 15mm Slanted, Left P53-151-1002 00889795010254
Dogbone™ Plate, 20mm Slanted, Left P53-151-1003 00889795010261
Dogbone™ Plate, Compression, 25mm Slanted, Left P53-151-1004 00889795010278
T-Plate, Compression, 3-Hole P53-152-0000 00889795020314
T-Plate, Compression, 4-Hole P53-152-0001 00889795010285
T-Plate, Compression, 5-Hole P53-152-0002 00889795010292
Trapezoid Plate, Small (12mm) P53-153-0001 00889795010308
Trapezoid Plate, Medium (16mm) P53-153-0002 00889795010315
Trapezoid Plate, Long (20mm) P53-153-0003 00889795010322
Trapezoid Plate, X-Long (24mm) P53-153-0004 00889795010339
Teddy Bear™ Plate, Small P53-154-0001 00889795010346
Teddy Bear™ Plate, Medium P53-154-0002 00889795010353
Teddy Bear™ Plate, Large P53-154-0003 00889795010360

GUNV-INV Rev. A




Inventory Control Sheet - Bone Graft Harvester Kit

Patient Name: Paragon 28, Inc.
Orders@Paragon28.com

Date: (855) 786-2828

HARV-XXX, Bone Graft Harvester Kit

Description Reference GTIN Bar Code Lot # Qty

Caddly Lid (Half Module) pso-so0-aoL  |oossszssoaszso | (NN

K-Wire, Single Ended Trocar Tip, SMOOTH, 2.3 x 150mm P99-192-2315 00889795041425 ”""IHIH ‘IH'”"”"' ‘l m

Bone Graft Harvester Caddy poo-soo-tarv  |oosaszssosesss | (NN

Morselizing Bone Graft Harvester, Door, 6mm P99-930-2006 00889795051813 H""I”IH ‘Im"l”l”l || m

Morselizing Bone Graft Harvester, Door, 8mm P99-930-2008 00889795051837 ”""IHIH ‘IH""H |H||||‘|

Morselizing Bone Graft Harvester, Door, 10mm P99-930-2010 00889795051851 ”""IHIH‘IH""‘"”""“

Morselizing Bone Graft Harvester, AO, 6mm P99-930-2106 00889795051820 ”""IHIH ‘IH""‘”'HI"“

Morselizing Bone Graft Harvester, AO, 8mm P99-930-2108 00889795051844 ”""IHIH ‘IH""H ||||”|‘|

Morselizing Bone Graft Harvester, AO, 10mm P99-930-2110 00889795051868 ”""IHIH‘IH""H ml"m

HARV-INV Rev. A




Inventory Control Sheet - PROMO, Instrument Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
PROMO, PROMO Instrument Caddy

Description Reference GTIN Bar Code Lot # Qty
BABY GORILLA® Case Ld, FullDi psosooaoor |oosasrasosssss| TN

PROMO™ Instrument Tray (Insert) P50-900-3101 00889795056245 ||||||IHI“ ‘I‘”"Nl”""“

PROMO™ Case Base, FullDin psosooaios |oosssresosszs2| TN

BABY GORILLA® Plate Bending Plies ps1o100003  |oosesresosezas | NI

Mini-AO, Ratcheting Handle Streamline, Cannulated, Med P99-000-AOMN  [00889795040374 ”""IHIH ‘IH”H” "H |||||

Mini-AO, Ratcheting Handle Streamline, Cannulated P99-000-A0ORC 00889795040381 ||||||IHI“‘I‘””"”I‘""‘l

Sharp Tip Bone Reduction Clamp, Large P99-150-0013 00889795040794 ||||||IHI“‘I‘”””H“""‘l

Lobster Claw posasoo017 |oosesresoaosst| NN

Foot Plate, Plantigrade Guide, Radiolucent, v 1.5 P99-900-1008 00889795056856 ”""IHIH ‘I‘H”"”“"""

PROMO-INV Rev. A




Inventory Control Sheet - PROMO, Plate Caddy

Patient Name:

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
R —TT &
PROMO Cadly Base pso-900-3109-1 |ooassresossces | NI
PROMO™ Catldy Li pso-s00-31101 |ooassresossoo2 | IIIILIINININ
PROMO™ Foot Plate K-Wire Placement Guide ps1-s0s.0004  |ooassrososozss| NI
PROMO™ Foot Plate K-Wire Placement Guide Retainer [»s1-008-0007  [oosesssoseso | IINNIIIHINNN
PROMO™ precision® Guide, vL5 ps1-sos.0010  |ooassresosssos| NI
PROMO™ Cut Guide, v15 ps1-sos.0012  [ooassresosssio| NN
PROMO™ Rotation Jig,vL.5 ps1-sos.0013  |ooassresosaass | IIINILIINIAIN
PROMO™ Placement g Let, vL5 ps1-sos-011  |ooassrososaszz | IIIIILIIMIIN
PROMO™ Placement Jig ight, vL.5 ps1-sos-rott  |ooassresosazso| LI
Preciion® Guide S Screw, Short ps1-os0.0001  [ooassrosorzess | NIITINININ
Guidewire Sieeve, L.omm ps1-os0.0010  [ooassresorzess| NI
Guidewire Sieeve, 1.mm ps1-os0.0012  |ooassresoress| NI
A Plate, Straight, 10mm pss-oot-1010  |ooassresozozis| NI
A Pate, w/Comression, 10mm pssoot-1cto  |ooassresozozs | IIITINIEIN
A Plate, Medial, Anatoric, 10mm pss-00t-200  [ooassresozozss| NN
PROMO™ Plate, Left, ize 2 pssorao02  |ooassrososasaz | IIIITIINININ
PROMO™ Plate, Left, ize 3 pssora003  |ooassrososazso | IIIITIINENN
PROMO™ Plate, Contoured 7, Lef, Short psora021  |ooassrososseor | IIIILITIININ
PROMO™ Plate, Contoured 6 Left, Long pssora022  |ooassrososszoz | IINLITHINNN
PROMO™ Plate, Right, Size 2 pss-oranooz  |ooassrososasso| IINITIINNI
PROMO™ Plate, Right, Size 3 pss-onanoos  [ooassrososaso7 | [N
PROMO™ Piate, Contoured 6, Right, Short pssoranoz  |ooassrososizae | IIILITHITAN
PROMO™ Piate Contoured ', Right, Long pssoranozz  |ooassrososizo1 | LTI
(CWire, Single Ended Trocar Tip, SMOOTH, 1.6 x 100mm [pss-152-1610  [oosesesoarses | I

PROPLX-INV Rev. A




PROPLX, PROMO Plate Caddy

Lot #

Qty

Description Reference GTIN Bar Code

(CWire, Sngle Ended Trocar Tip, SMOOTH, 1.6 x 150mm [pss-152-1615  [oosesasorssss | IIINNIITHIINI
Olive Wire, SMOOTH, 1.3 X 70mm pos-2001307  |ooassrosoasse| IIIILIIIININ
Olive Wire, THREADED, 1.3 X 70mm pos201-1307  |ooassrosoassas| I
Olive Wire, SMOOTH, 1.6 x 80, Tower Wire, standard [p99-250-1608[ooss7ssoass7s | ININIIIITHINN

PROPLX-INV Rev. A



Inventory Control Sheet - PROMO, Screw Caddy

Patient Name:

P8

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
Description B PRr:‘fAe?esnccr: e GTIN Bar Code Lot # aty
Washer, 2.0mm, Headed paooz0.owoo |oosssrssoorsso| NI
Washer, 2.5mm, Headed paoozs.owoo  |oossorssoossas | NI
MINI-MONSTER? Cannulated, Short Thread Screw, Headed, 20x tomm  [p20-1200105  |ooss7asootzso| NN
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 20x 12mm  [p20-1200125 [oosaozosoosss7 | IININNNIN
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 20x 14mm  [p20-120:014s  [oosaozasoorszs| NI
MINI-MONSTER® Cannulated, Short Thread Screw, Headed, 2.0 x 16mm  [p20-1200165  [oosssasoosatz | IINNIINININ
MINI-MONSTER? Cannulated, Short Thread Screw, Headed, 20x18mm  [p20-120:0185 oasaoosoozaso| [N
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 20x20mm  [p20-120:020s  [oosaoasoosacs| NI
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 20x22mm  [p20-120:0225  [oosaoasoosste | ITIIIIN
MINI-MONSTER® Cannulated, Short Thread Screw, Headed, 2.0x24mm  [p20-1200245  |oosssasootsss| NN
MINI-MONSTER® Cannulated, Short Thread Screw, Headed, 2.0x26mm  [p20-1200265  [oosssasoossso| NN
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 20x28mm  [p20-120:0285  [oosaoosootsz3| NN
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 20x30mm  [p20-120:030s  [oosaoasoosso7| NN
MIN-MONSTER? Cannulated, Short Thread Screw, Headed, 20x32mm  [p20-120:0325 |oasaoosoozsto|  IIIINITHIHIN
MINI-MONSTER® Cannulated, Short Thread Screw, Headed, 2.0x34mm  [p20-1200345  [oosssasoosesa| NN
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 20x36mm  [p20-120:036s  [oosaoasoosess| NN
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 25 x 1omm  [p20-125.010s  [oosaoasootsss| NN
MINI-MONSTER® Cannulated, Short Thread Screw, Headed, 2.5 x 2mm  [p20-1250125  [oosssasoossss| I
MINI-MONSTER® Cannulated, Short Thread Screw, Headed, 2.5 x 4mm  [p20-1250145  [oossasootssa| NI
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 25 x 1mm  [p20-125.016s [oosaozosootost | NN
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 25 x 1smm  [p20-12s.018s  [oosaozasootozo| NN
MINI-MONSTER® Cannulated, Short Thread Screw, Headed, 2.5 x20mm  [p20-1250205  [oosssasoozors| NN
MIN-MONSTER? Cannulated, Short Thread Screw, Headed, 2.5 x22mm  [p20-1250225 |oasaoasoozos7| NI
MINHVONSTER® Cannulated, Short Thread Screw, Headed, 2.5 x24mm  [p20-125-0245  |ooss7osoozost | IINHITINANN
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 25 x26mm  [p20-125.0265  [oosaozasoozo7s| NN
MINI-MONSTER? Cannulated, Short Thread Screw, Headed, 2.5 x26mm  [p20-125-028  |oosssasoozoso| NN
MINI-MONSTER? Cannulated, Short Thread Screw, Headed, 2.5 x3omm  [p20-125-0305  |oosssasooza12| NN
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 25 x32mm  [p20-125.0325  [oosaoosoozazs|  INNNIINHIN

PROSCW-INV Rev. A




PROSCW, PROMO Screw Cadd

Description Reference GTIN Bar Code Lot # aty
MINI-MONSTER? Cannulated, Short Thread Screw, Headed, 2.5 x34mm  [p20-1250345  [oosasasoozaso| NN
MINI-MONSTER Cannulated, Short Thread Screw, Headed, 25 x36mm  [p20-125.036s [oosaozasooza7a| NI
MINI-MONSTER Cannulated, Short Thread Screw, Headless, 20x 1omm  [p20-s20.010s [oosaoasoostss| NI
MINI-MONSTER® Cannulated, Short Thread Screw, Headless, 20 12mm  [p20-5200125  |oosssasoos72| NI
MINI-MONSTER? Cannulated, Short Thread Screw, Headless, 20x 14mm  [p20-5200145  [oosas7asoostss| NN
MINI-MONSTER Cannulated, Short Thread Screw, Headless, 20x 16mm  [p20-s20:016s [oosaozasooszto| NI
MINI-MONSTER Cannulated, Short Thread Screw, Headless, 20x 18mm  [p20-s20.018s [oosaoasooczss| NN
MINI-MONSTER? Cannulated, Short Thread Screw, Headless, 20 20mm  [p20-5200205  |oosssasooszs7| NI
MINI-MONSTER? Cannulated, Short Thread Screw, Headless, 20x 22mm  [p20-5200225  |oosasasooszes| NN
MINLMONSTER® Cannulated,Short Thread Screw, Headless, 20x 24mm  [p20520:024s  [ooas7osooe71 | ININITITEIN
MINEMONSTER® Cannulated, Short Thread Screw, Headless, 20x26mm  [pa0-520.0265 [oosaoasooczss| NN
MINEMONSTER Cannulated, Short Thread Screw, Headless, 20x28mm  [pa0-520.0285 [oosaoasooczos | IIINIIIININ
MINEMONSTER Cannulated, Short Thread Screw, Headless, 20x3omm  [p20-520:030s  [oosaoasooea1s| NI
MIN|MONSTER® Cannulated,Short Thread Screw, Headless, 20x32mm  [p20520:0325  [ooas7osooess2| NN
MINEMONSTER® Cannulated, Short Thread Screw, Headless, 20x3amm  [pa0-520.034s [oosaozasoosass| NN
MINEMONSTER Cannulated, Short Thread Screw, Headless, 20x36mm  [p20-520:036s [oosaoasooea7o| ININNIHII
MINEMONSTER® Cannulated, Short Thread Screw, Headless, 25 x 1omm  [pa0-s2s.010s [oosaoasooes23 | IIIITIHNIN
INLMONSTER® Cannulated,Short Thread Screw, Headless, 2.5 x mm  [pa0-sas.o125  |ooasszosooese7| NN
MINEMONSTER® Cannulated, Short Thread Screw, Headless, 25 x 1amm  [pa0-sas.otas  [oosaozasooast| NI
MINEMONSTER Cannulated, Short Thread Screw, Headless, 25 x 16mm  [pa0-sas.ot6s  [oosaozasooesas| NI
MINEMONSTERS Cannulated, Short Thread Screw, Headless, 25 x 18mm  [pa0-sas.otss  [oosaoasooeeos| NI
INLMONSTER® Cannulated,Short Thread Screw, Headless, 25 x20mm  [p20-525:0205 [ooas7osooes22 | ININNITHIN
MINEMONSTER® Cannulated, Short Thread Screw, Headless, 25x22mm  [pa0-525.025 [oosaoasooeess| NI
MINEMONSTER Cannulated, Short Thread Screw, Headless, 25 x24mm  [pa0-525.024s [oosaoasooesas| NI
MINEMONSTER Cannulated, Short Thread Screw, Headless, 2.5 x26mm  [pa0-525.026s [oosaoasooes3| NI
MINLMONSTER® Cannulated,Short Thread Screw, Headless, 25 x28mm  [p20-s25.0285 [ooas7osooeseo| ININNITANINN
MINEMONSTER® Cannulated, Short Thread Screw, Headless, 25 x3omm  [pa0-525.030s  [oosaoasoosesa| ININIIIHIN
MINEMONSTER Cannulated, Short Thread Screw, Headless, 25 x32mm  [pa0-525.03s [oosaoasoos7o7| NI
MINEMONSTER Cannulated, Short Thread Screw, Headless, 2.5 x3amm  [pa0-s2s.03as [oosaoasoos721| NI
MINLMONSTER® Cannulated,Short Thread Screw, Headless, 25 x36mm  [pa0-s25.0365  [ooass7osooeas| NN
Countersink, 2.0mm, Headed pa0st02000  [oossorssossast| NN

PROSCW-INV Rev. A




PROSCW, PROMO Screw Cadd

Bar Code

Lot #

Qty

Description Reference GTIN

Countersink, 2.5/2.7mm, Headed P20-910-2500 00889795035868
Countersink, 2.0mm, Headless P20-915-2000 00889795035936
Countersink, 2.5mm, Headless P20-915-2500 00889795035943
Tap, 2.5/2.7mm, Cannulated P20-920-2500 00889795016348
Drill Guide, 2.0/2.5mm P20-941-2025 00889795036117
Depth Gauge (2.0 - 4.0mm) P20-951-2040 00889795036278
BG Locking Screw, 2.0 x 08mm P50-053-2008 00889795018687
BG Locking Screw, 2.0 x 10mm P50-053-2010 00889795018700
BG Locking Screw, 2.0 x 12mm P50-053-2012 00889795018724
BG Locking Screw, 2.0 x 14mm P50-053-2014 00889795018748
BG Locking Screw, 2.0 x 16mm P50-053-2016 00889795018762
BG Locking Screw, 2.0 x 18mm P50-053-2018 00889795018786
BG Locking Screw, 2.0 x 20mm P50-053-2020 00889795018809
BG Locking Screw, 2.0 x 22mm P50-053-2022 00889795018816
BG Locking Screw, 2.0 x 24mm P50-053-2024 00889795018823
BG Locking Screw, 2.0 x 26mm P50-053-2026 00889795018830
BG Locking Screw, 2.0 x 28mm P50-053-2028 00889795018847
BG Locking Screw, 2.0 x 30mm P50-053-2030 00889795018854
BG Locking Screw, 2.0 x 32mm P50-053-2032 00889795018861
BG Locking Screw, 2.0 x 34mm P50-053-2034 00889795018878
BG Locking Screw, 2.0 x 36mm P50-053-2036 00889795018885
BG Locking Screw, 2.5 x 08mm P50-053-2508 00889795018915
BG Locking Screw, 2.5 x 10mm P50-053-2510 00889795018939
BG Locking Screw, 2.5 x 12mm P50-053-2512 00889795018953
BG Locking Screw, 2.5 x 14mm P50-053-2514 00889795018977
BG Locking Screw, 2.5 x 16mm P50-053-2516 00889795018991
BG Locking Screw, 2.5 x 18mm P50-053-2518 00889795019011
BG Locking Screw, 2.5 x 20mm P50-053-2520 00889795019035
BG Locking Screw, 2.5 x 22mm P50-053-2522 00889795019042
BG Locking Screw, 2.5 x 24mm P50-053-2524 00889795019059
BG Locking Screw, 2.5 x 26mm P50-053-2526 00889795019066

PROSCW-INV Rev. A




PROSCW, PROMO Screw Cadd

Bar Code

Lot #

Qty

Description Reference GTIN

BG Locking Screw, 2.5 x 28mm P50-053-2528 00889795019073
BG Locking Screw, 2.5 x 30mm P50-053-2530 00889795019080
BG Locking Screw, 2.5 x 32mm P50-053-2532 00889795019097
BG Locking Screw, 2.5 x 34mm P50-053-2534 00889795019103
BG Locking Screw, 2.5 x 36mm P50-053-2536 00889795019110
BG Non-Locking Screw 2.0 x 08mm P50-153-2008 00889795019165
BG Non-Locking Screw 2.0 x 10mm P50-153-2010 00889795019189
BG Non-Locking Screw 2.0 x 12mm P50-153-2012 00889795019202
BG Non-Locking Screw 2.0 x 14mm P50-153-2014 00889795019226
BG Non-Locking Screw 2.0 x 16mm P50-153-2016 00889795019240
BG Non-Locking Screw 2.0 x 18mm P50-153-2018 00889795019264
BG Non-Locking Screw 2.0 x 20mm P50-153-2020 00889795019288
BG Non-Locking Screw 2.0 x 22mm P50-153-2022 00889795019295
BG Non-Locking Screw 2.0 x 24mm P50-153-2024 00889795019301
BG Non-Locking Screw 2.0 x 26mm P50-153-2026 00889795019318
BG Non-Locking Screw 2.0 x 28mm P50-153-2028 00889795019325
BG Non-Locking Screw 2.0 x 30mm P50-153-2030 00889795019332
BG Non-Locking Screw 2.0 x 32mm P50-153-2032 00889795019349
BG Non-Locking Screw 2.0 x 34mm P50-153-2034 00889795019356
BG Non-Locking Screw 2.0 x 36mm P50-153-2036 00889795019363
BG Non-Locking Screw 2.5 x 08mm P50-153-2508 00889795019394
BG Non-Locking Screw 2.5 x 10mm P50-153-2510 00889795019417
BG Non-Locking Screw 2.5 x 12mm P50-153-2512 00889795019431
BG Non-Locking Screw 2.5 x 14mm P50-153-2514 00889795019455
BG Non-Locking Screw 2.5 x 16mm P50-153-2516 00889795019479
BG Non-Locking Screw 2.5 x 18mm P50-153-2518 00889795019493
BG Non-Locking Screw 2.5 x 20mm P50-153-2520 00889795019516
BG Non-Locking Screw 2.5 x 22mm P50-153-2522 00889795019523
BG Non-Locking Screw 2.5 x 24mm P50-153-2524 00889795019530
BG Non-Locking Screw 2.5 x 26mm P50-153-2526 00889795019547
BG Non-Locking Screw 2.5 x 28mm P50-153-2528 00889795019554

PROSCW-INV Rev. A




PROSCW, PROMO Screw Cadd

Bar Code

Lot #

Qty

Description Reference GTIN

BG Non-Locking Screw 2.5 x 30mm P50-153-2530 00889795019561
BG Non-Locking Screw 2.5 x 32mm P50-153-2532 00889795019578
BG Non-Locking Screw 2.5 x 34mm P50-153-2534 00889795019585
BG Non-Locking Screw 2.5 x 36mm P50-153-2536 00889795019592
BABY GORILLA® Washer P50-153-WMO00 |00889795019707
PROMO™ Screw Instruments Base (Use lid 3108-1) P50-900-3103-1 |00889795056283
PROMO™ Screw Caddy Base (Use lid 3108-1) P50-900-3107-1 |00889795056269
PROMO™ Screw & Instruments Caddy Lid P50-900-3108-1 |00889795056276
Drill, 1.7 x 120mm, Cannulated, AO P99-110-1712 00889795040558
Screw Holding Sleeve, TX-6 P99-190-5L06 00889795041203
Screw Driver Attachment, Cannulated, AO, HX-6 P99-190-TX06 00889795052070
Screw Holding Sleeve, TX-7 P99-191-SLO7 00889795019684
Screw Driver Attachment, Solid, AO, TX-7 P99-191-TS07 00889795019691
Screw Driver Attachment, Solid, AO, HX-6 P99-191-TX06 00889795041340
K-Wire, Single Ended Trocar Tip, SMOOTH, 0.9 x 150mm P99-192-0915 00889795034052
K-Wire, Double Ended Trocar Tip, SMOOTH, 0.9 x 150mm P99-292-0915 00889795034069

PROSCW-INV Rev. A




Patient Name:

Inventory Control Sheet - Removal Caddy, Syndesmosis Screws

P8

Paragon 28, Inc.

Orders@Paragon28.com

Date: (855) 786-2828
Deserption e o Toareo Lot ay
(CWire Tube, 1.2 x 100mm pa0-s00-5005-1 [oosssrssoaotas | NI

(CWire Tube,Cap a0-s00-s006  [oossorssoaonss | IITHNIIMIANN

RLEASE™ Sabiliation Device Removal Caddy pao-s00-0003-1 [oossarssoassoo | NI

RSLEASE™ Sabilization Device Remova Caddly Lid pso-s00-0003-2 |oosssrssoaora | IIINIININHI

Medial Removal Driver, R3LEASE™ pso-sao3001  [oossorssoaorze | NI

Loteral RemovalDriver, R3LEASE™ pso-sao3002  [oossorssoasas: | IIIINIIIINNN

Trephine 5.5mm, R3LEASE™ psoseossoo  [oossorssoaorst | NN

over il 4.2 x 120mm, 501, AO pos-1004212  |oossorssoaosaa | IIINNIIININN

Screw Drver Attachment, Slid, AO, H¥-10,short Taper, acon™  [pos-isxrto  [aossozosoatse | ININNIIIINE

(Wire, Single Ended Trocar Ti, SMOOTH, 1.2 x 100mm pos-192-1210  [oossorssosssas | NI

SYNREM-INV Rev. A




	AVIT-INV, AVITRAC Core MTP Revision System Kit, Rev. A
	BG5MT-INV, Baby Gorilla 5th Met Plate Caddy, Rev. A
	BGINS-INV, Baby Gorilla Plating System Instrument Caddy, Rev. A
	BG-INV, Baby Gorilla Plating System Outer Caddy, Rev. A
	BGOB-INV, Baby Gorilla Oblique Plate L-T-Y Caddy, Rev. A
	BGSCW-INV, Baby Gorilla Screw Caddy, Rev. A
	BGSLT-INV, Baby Gorilla Straight Plate L-T Caddy, Rev. A
	BGSP-INV, Baby Gorilla Specialty Plate Caddy, Rev. A
	BGTAL-INV, Baby Gorilla Talar Neck Plate Caddy, Rev. A
	BGZAG-INV, Baby Gorilla Zig Zag Plate Caddy, Rev. A
	BRASCW-INV, Breakaway R3LEASE Screw Caddy, Rev. A
	G2INS-INV, Gorilla Instruments, Split Kit, Rev. A
	GAFHK-INV, Gorilla Ankle Fracture Hook and Posterior Plate Caddy, Rev. A
	GAXFR-INV, Gorilla Ankle Fracture R3con Plate Caddy, Rev. A
	GBOW-INV, Bow Plate Caddy, Rev. A
	GCFST-INV, Gorilla Calc Fracture Sinus Tarsi Plate Caddy, Rev. A
	GCSL-INV, Gorilla Calc Slide Plate Caddy, Rev. A
	GINSR-INV, Gorilla Instrument Caddy, Rev. A
	G-INV, Gorilla Outer Caddy, Rev. A
	GLAP-INV, Gorilla Lapidus Plate Caddy, Rev. A
	GLCF-INV, Gorilla Lateral Column Fusion Plate Caddy, Rev. A
	GLIS-INV, Gorilla Lisfranc Plate Caddy, Rev. A
	GMED-INV, Gorilla Medial Column Plate Caddy, Rev. A
	GMTP-INV, Gorilla MTP Plate Caddy, Rev. A
	GNCFS-INV, Gorilla NC Fusion Plate Caddy, Rev. A
	GSBANT-INV, Silverback Anterior Plate Caddy, Rev. A
	GSBINS-INV, Silverback Instrument Caddy, Rev. A
	GSBKWC-INV, Silverback K-Wire Caddy, Rev. A
	GSBLAT-INV, Silverback Lateral Plate Caddy, Rev. A
	GSBSCW-INV, Silverback Screw Caddy, Rev. A
	GSCW-INV, Gorilla TUFFNECK Screw Caddy, Rev. A
	GSCWR-INV, Gorilla R3con Screw Caddy, Rev. A
	GSCWT-INV, Gorilla Transition Screw Caddy, Rev. A
	GTREPH-INV, Gorilla Reamer Caddy, Rev. A
	GUNV-INV, Gorilla Universal Plate Caddy, Rev. A
	HARV-INV, Bone Graft Harvester Kit, Rev. A
	PROMO-INV, PROMO Instrument Caddy, Rev. A
	PROPLX-INV, PROMO Plate Caddy, Rev. A
	PROSCW-INV, PROMO Screw Caddy, Rev. A
	SYNREM-INV, Syndesmosis Screw Removal Caddy, Rev. A

